*****************

BFL PAPER

*****************

(COMPUTER AWARENESS TEXT) (45QUESTIONS ,+1,-1/4,45MIN)

1.In scanf h is used for (short int)

2.process is (program in execution)

3.thread is (detachable unit of executable code)

4.advantage of Win NT over Win 95 (robust &amp;secure)

5.memory managemant in Win95 (paging &amp;segmentation)

6.SQL indicates (all above)

7.polymorphism(function &amp; operator overloading)

8.inheritance is(all properties of existing class are derived)

9.FTP(transfer a file b/w stations with user authentification)

10.TCP in transport layer (connection oriented)

11.gateway is used (to connect incompatible networks)

12.linked list is implemented by (referential structures)

13.multitask win95 (preemptive or non preemptive 
check)

14.functional dependency ( answer C)

15.semaphore is (synchronization of multiple processes

16.precedence order from high to low ( ( ) ++ / 
)

17.preorder of A*(B+C)/D-G (*+ABC/-DG)

18.B-tree (failure nodes at same level)

19.dense index (index record appers for every search -key in file)

20.answer for one questions ( (*p).value =5 )

21.merge sort time complexity ( O(n log n) 
)

22.program on swaping ( 10,5 ) 
given values are not changed

23.routers used (in network layer )

24.packets are formed ( in network layer )

25.heap ( priority queue )

26.copy constructor ( constant reference )

27.while following sorting algorithem has average sorting behavior
(heap sort )

28.in binary search tree which traversal is used for getting
ascending

order values (inorder )

29.device drivers is used ( tool for a i/o devices) i am not
sure

30. irrevalent to unix command ( getty)

31.fork in unix (system call used to create process)

32.make (creation of more than one file )

33.in unix .profile contains ( start up program)

34.in unix echo is used for ( answer C)

35.in unix 'ls 'stores contents in( inode block)

REFER GRE ( 12 TH EDITION)(QUANTITATIVE 20 Q ,+1,-1/4)

QUANTITATIVE :-

MODEL TEST 1. SECTION 3,PAGE 435 :- QUESTIONS(Q ) 17 TO 20,26
29

MODELTEST 1,SECTION 4,PAGE 441:- Q 26,28,29

MODEL TEST 2,SECTION 3,PAGE 483:- Q 18,19,20,29,30

MODEL TEST 2,SECTION 4,PAGE 489 :- Q 16,30
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ANALYTICAL ABILITY ( 20 Q, +1,-1/4) 
QUANTUM+ANALYTICAL 45MIN

1 PAGE 397 Q 7-11( THE OFFICE STAFF OF THE XYZ CORPORATION)

2 PAGE 397 Q 14-17 ( AFTER MONTHS OF TALENT SEARCHING FOR AN ADMINISTRATIVE
ASSISTANT

3.PAGE 400 Q 29-31(A CERTAIN CITY A SERVED BY SIX SUBWAY LINES)

4.MODEL TEST1,SECTON5,PAGE443,Q13-16(IN A CETTAIN SOCIETY THERE ATE
TWO

MARRIAGE GROPES RED , BROWN)

5.MODELTEST3,SECTION6,PAGE544,Q 1-4(ALL G'S ARE H'S ,ALL G'S ARE J'S
OR

K'S)

[1]. The following variable is available in file1.c

static int average_float;

all the functions in the file1.c can access
the variable

[2]. extern int x;

Check the answer

[3]. Another Problem with

# define TRUE 0

some code

while(TRUE)

{


some code

}

This won't go into the loop as TRUE is defined as 0

[4]. A question in structures where the memebers are dd,mm,yy.

mm:dd:yy

09:07:97

[5]. Another structure question

1 Rajiv System Analyst

[6]. INFILE.DAT is copied to OUTFILE.DAT

[7]. A question with argc and argv .

Input will be

c:\TEMP.EXE Ramco Systems
India

-----------------------------------------------------------------------

main()

{

int x=10,y=15;

x=x++;

y=++y;

printf("%d %d\n",x,y);

}

----------------------------------------------------------------------

int x;

main()

{

int x=0;

{


int x=10;


x++;


change_value(x);


x++;


Modify_value();


printf("First output: %d\n",x);

}

x++;

change_value(x);

printf("Second Output :
%d\n",x);

Modify_value();

printf("Third Output : %d\n",x);

}

Modify_value()

{

return (x+=10);

}

change_value()

{

return(x+=1);

}

-----------------------------------------------------------------------

main()

{

int x=20,y=35;

x = y++ + x++;

y = ++y + ++x;

printf("%d %d\n",x,y);

}

-----------------------------------------------------------------------

main()

{

char *p1="Name";

char *p2;

p2=(char *)malloc(20);

while(*p2++=*p1++);

printf("%s\n",p2);

}

----------------------------------------------------------------------

main()

{

int x=5;

printf("%d %d %d\n",x,x<<2,x2);

}

--------------------------------------------------------------------

#define swap1(a,b) a=a+b;b=a-b;a=a-b;

main()

{

int x=5,y=10;

swap1(x,y);

printf("%d %d\n",x,y);

swap2(x,y);

printf("%d %d\n",x,y);

}

int swap2(int a,int b)

{

int temp;

temp=a;

b=a;

a=temp;

return;

}

----------------------------------------------------------------------

main()

{

char *ptr = "Ramco Systems";

(*ptr)++;

printf("%s\n",ptr);

ptr++;

printf("%s\n",ptr);

}

---------------------------------------------------------------------

#include<stdio.h

main()

{

char s1[]="Ramco";

char s2[]="Systems";

s1=s2;

printf("%s",s1);

}

-----------------------------------------------------------------

#include<stdio.h

main()

{

char *p1;

char *p2;

p1=(char *) malloc(25);

p2=(char *) malloc(25);

strcpy(p1,"Ramco");

strcpy(p2,"Systems");

strcat(p1,p2);

printf("%s",p1);

}

***************

CITICORP(CITIL)

***************

Source:REC CALICUT.

SECTION-1

*********

1) For the first qustion in the paper answer is (30).

2)Five trays cost is 0.35 each and dozen----- (ans:Rs13.75)

3)In a journey of 15 miles two third distance was travelled

with 40 mph and remaining with 60 mph.How muvh time the

journey takes...(ans:20 min)

4)A man walks from 9.15 to 5.15 from monday to friday and 9.00

to 12.00 on saturday.Each day 0.45 min lunch.

How much time he walks in a week...(ans: 39hrs15min).

5) 12 revolutions takes 1/8 th second time.In 20 seconds how

many revolutions...(ans:1920)

6) In 60 reems of paper 40 reems were utilised then what

percent will remain...(ans:33.33%)

7) A started at 9.00 am with 6 mph and B started at 9.30 am

with 8mph in the same direction. At what time they will meet...

(ans:11.00am)

8) In a storage stall of 5x3x2inch.How many blanks of size

2x1x1inch can be stored..(ans:15)

9) In a company 3/5 of people know shorthand 1/4th know typing

and 1/5 know both. What fraction of people do not know both..

(ans:35%)

10) A man how many bikes of Rs 14000 can buy by selling 2100

bikes of Rs500/- of each (ans: 75)

11) A company requires 11,500 strength.present employees are 200

women , men and 6500 unmarried To reach the target how many

women required to maintain the same ratio (ans : 300)

12) What is the time required to punch 1500 cards of 50 column

each at the rate of 10,000 punches per hour (ans:7hr 30min)

This section includes 10 data interpretation questions.For

this you follow the GRE book.In these questions some graphs will

be there and the related questions will be asked...so you

prepare from gre book.

Some qustions are difficult.SO you first do the above qustions

and go to data interpretation.

In the above given paper the meaning of the qustions may be wrong,

but the answers and the numericals in the question are exactly

correct. so it would be better to remember the answres.

thta'S all about this section.

NUMBER SERIES: 20 QUESTIONS 7 MINUTES

*************

These are very easy. Questions are not availeble.

FIGURE SERIES: 20 questions 14 minutes

*************

THESE ARE ALSO VERY EASY.DON'T WORRY ABOUT THIS SECTION

ANALYTICAL REASONING:

********************

1) In a group of five persons A,B,C,D,and E

a)A and C are intelligent in English and Reasoning.

b)B and C are intelligent in English and General Awareness.

c)E and D are intelligent in Arithmatic and Inteview.

d)E is intelligent in Interview,reasoning and Arithe matic.

e)B and D are intelligent in Arithematic and General Awareness.

1) Who is intelligent in English,arithematic,and general

awareness (ANSWER:B)

2)Who is intelligent in english and reasoning but not in

general awareness (ans:A)

3)Who is intelligent in Arithematic,General Awareness and

Interview (ans:D)

4)Who is intelligent in English General Awareness and Reasoning

(ans:C)

5)Who is intelligent in Arithematic,Reasoning and Interview(ans:E)

2) Five persons A,B,C,D and E were travelling in a car.They were

two ladies in the group. Of them who knew the car driving one

was a lady.A is brother of D.B wifeof D,drve at the begining.

E drive at the end.

1)Which of the following is a pair of brothers.(ans:A,D)

2)Who was the other lady in the group.(ans:C)

3)In the case of which the following pairs,no relationship

can be established with one else in the group (ans:C,E)

4)How was E related to A.(ans:DATA INADEQUATE)

3) A man said to woman " your only brother's son is my wife's

brother". How is the woman related to the man's wife...(ans:AUNT)

IN THIS SECTION ALSO THERE ARE SOME MORE QUESTIONS.THESE ARE

NOT AVILEBLE.

This is also like tcs paper.for every section there will be a

limited time.you should complete only at that specified time.

They won't allow to go back in the middlE.

So please remember,time factor is the important thing.

ESSAY (10 MIN)

**************

In the last section there was passage.You should conclude that

one in the specified 10 min. It would be better to prepare a

computer related topics like client server,internet etc..



(HCL SOFTWARE PAPER)******************************

NOTE : Please check answers once again.

section
1.

1.which of the following involves context switch,

a) system call b)priviliged instruction

c)floating poitnt exception

d)all the above

e)none of the above

ans: a

2.In OSI, terminal emulation is done in

a)semion b)appl.. c)presenta... d)transport

ans: b

3....... 25MHz processor , what is the time taken by the

instruction which needs 3 clock cycles,

a)120 nano secs b)120 micro secs

c)75 nano secs d)75 micro secs



4. For 1 MBmemory no of address lines required,

a)11 b)16 c)22 d) 24

ans: 16

5. Semafore is used for

a) synchronization b0 dead-lock avoidence

c)box d) none

ans : a

6. class c: public A, public B

a) 2 member in class A,B shouldnot have same name

b) 2 member in class A,C " '' '' 
''

c) both

d) none

ans : a

7. question related to java

8. OLE is used in

a)inter connection in unix

b)interconnection in WINDOWS

c)interconnection in WINDOWS NT

9.No given in HEX ---- write it in OCTAL

10.macros and function are related in what aspect?

a)recursion b)varying no of arguments

c)hypochecking d)type declaration

11.preproconia.. does not do one of the following

a)macro ...... b)conditional compliclation

c)in type checking d)including load file

ans: c


SECTION B


__________

1.enum day = { jan = 1 ,feb=4, april, may}

what is the value of may?

a)4 b)5 c)6 d)11

e)none of the above

2.main

{

int x,j,k;

j=k=6;x=2; 
ans x=1

x=j*k;

printf("%d", x);

3. fn f(x)



{ if(x<=0)

return; 
ans fn(5) ....?

else f(x-1)+x;

}

4. i=20,k=0;

for(j=1;j<i;j=1+4*(i/j))

{

k+=j<10?4:3;

}

printf("%d", k); 
ans k=4

5. int i =10

main()

{

int i =20,n;

for(n=0;n<=i;)

{

int i=10

i++;

}

printf("%d", i); 
ans i=20

6. int x=5;

y= x&y

( MULTIPLE CHOICE QS)

ans : c



7. Y=10;

if( Y++9 && Y++!=10 && Y++10)

printf("........ Y);

else printf("".... )

ans : 13

8. f=(xy)?x:y

a) f points to max of x and y

b) f points to min of x and y

c)error

d) ........

ans : a



9. if x is even, then

(x%2)=0

x &1 !=1

x! ( some stuff is there)

a)only two are correct

b) three are correct

c), d) ....



ans : all are correct

10. which of the function operator cannot be over loaded

a) <= b)?: c)== d)*

ans: b and d


SECTION.C (PRG SKILLS)


--------

(1) STRUCT DOUBLELIST

{ 
DOUBLE CLINKED

INT DET; 
LIST VOID

STRUCT PREVIOUS; 
BE GIVEN AND A PROCEDURE TO DELETE

STRUCT NEW; 
AN ELEMENT WILL BE GIVEN

}

DELETE(STRUCT NODE)

{

NODE-PREV-NEXT NODE-NEXT;

NODE-NEXT-PREV NODE-PREV;

IF(NODE==HEAD)

NODE

}

IN WHAT CASE THE PREV WAS

(A) ALL CASES

(B) IT DOES NOT WORK FOR LAST ELEMENT

(C) IT DOES NOT WORK FOR-----

(2) SIMILAR TYPE QUESTION

ANS: ALL DON'T WORK FOR NON NULL VALUE

(3) VOID FUNCTION(INT KK)

{

KK+=20;

}

VOID FUNCTION (INT K)

INT MM,N=&M

KN = K

KN+-=10;

}


SECTION D


--------

(1) a=2,b=3,c=6 c/(a+b)-(a+b)/c=?

(2) no.rep in hexadecimal, write it in radiv 7

(3) A B C D E

* 4

---------- find E ANS: 13

E D C B A

------------

(4) GRE-MODEL TEST-1, SECTION-6(19-22)

(5) M HAS DOUBLE AMOUNT AS D, Y HAS RS. 3 MORE THAN HALF OF AMOUNT
OF D

THE ORDERING A,B,C 
M C D C Y

ANS:DATA INSUFFICIENT 
D C M C Y

(6)IN STASTIC MEN CAUSE MORE ACCIDENTS THEN ONE CONCLUSION

(A) MEN DRIVE MORE THAN ONCE

(B) STASTICS GIVE WRONG INFORMATION

(C) WOMEN ARE CAUTION THAN ME ANS; C(VERIFY)

(D)-----ETC

(7) P,Q,R,S,T,U -SECURING GRANT;TWO TOURIST PARTIES AND THEN

TWO SECURITY GAURDS SHOULD GO WITH EACH PARTY

_________________________________________________________________

P AND R-ARE ENEMIES, 
Q DOES NOT GO SOUTH

P&S-ARE WILLING TO BE TOGETHER

___________________________________________________________________

THE TWO PARTIES MAY GO SOUTH&NORTH RESPECTIVELY

AT ONE POINT EACH MAY PASS EACH OTHER THEN GAURDS CAN EXCHANGE

6 Q BASED ON THIS

(8)pq-r/s =2 what is q inference a,n&d

(a) a can do n units of work in strs,a&b can do n units of
work

in 2 hrs in how many hrs n units of work ans:3 hr 30 min

p = (2s+r)/q


____________

main()

{

int var=25,varp;

varp=&var;

varp p = 10;

fnc(varp)

printf("%d%d,var,varp);

}

(a) 20,55(b) 35,35(c) 25,25(d)55,55

[ c++,c,dbms interview]

[fundamentals]

this is new paper

______________________________________________________________


application -software


____________________

part-1:

28-questions

(5)ingless ans:RDMS

(1)bit program-ans d

(2)c ans

(3)+ 0 ans

(4)00p--ans linking

(5)------

(6)-------

(9)25--45 even no. ans--10

(10) 10 <100 ---ans=n+9



******************

CMC

******************

Analytical Reasoning

--------------------

(1-5) steps problem

There are six steps that lead from the first to the second floor.

No two people can be on the same step.

Mr A is two steps below Mr C

Mr B is a step next to Mr D

Only one step is vacant ( No one standing on that step )

Denote the first step by step 1 and second step by step 2 etc.

(1) If Mr A is on the first step, Which of the following is true?

(A) Mr B is on the second step

(B) Mr C is on the fourth step.

(C) A person Mr E, could be on the third step

(D) Mr D is on heigher step than Mr C.



Ans : (D)

(2). If Mr E was on the third step & Mr B was on a higher
step than

Mr E which step must be vacant

(A) step 1 (B) step 2 (C) step 4 (D) step
5 (E) step 6

Ans : (A)

(3). If Mr B was on step 1, which step could A be on?

(A) 2&e only (B) 3&5 only (C) 3&4
only (D) 4&5 only (E) 2&4 only



Ans : (C)







(4). If there were two steps between the step that A was standing and
the step that B was standing on, and A was on a higher step than
D , A

must be on step



(A) 2 (B) 3 (C) 4 (D) 5 (E) 6 
Ans: (C)

(5). Which of the following is false

i. B&D can be both on odd-numbered
steps in one configuration

ii. In a particular configuration
A and C must either both

an odd numbered steps or both an even-numbered steps

iii. A person E can be on a step
next to the vacant step.

(A) i only (B) ii only (C) iii only 
Ans : (C)

Swimmers problem (6 - 9 )

Six swimmers A B C D E F compete in a race. There are no 
ties. The out comes are as follows.

1. B does not win.

2. Only two swimmers seperate
E & D

3. A is behind D & E

4. B is ahead of E , wiht one
swimmer intervening

5. F is a head of D



(6). who is fifth

(A) A (B) B (C) C (D) D (E) E 
Ans : (E)

(7) How many swimmers seperate A and F "

( A) 1 (B) 2 (C) 3 (D) 4 (E) not deteraminable from the given
info.



Ans :( D )



(8). The swimmer between C & E is

(A) none (B) F (C) D (D) B (E) A 
Ans : (A)



(9). If the end of the race, swimmer D is disqualified by the
Judges

then swimmer B finishes in which
place

(A) 1 (B) 2 (C) 3 (D) 4 (E) 5 Ans :
(B).



Cimney problem ( 10 - 14 )

--------------------------

Five houses lettered A,B,C,D, & E are built in
a row next to each

other. The houses are lined up in the order A,B,C,D, & E. Each
of the

five houses has a coloured chimney. The roof and chimney of each house

must be painted as follows.

1. The roof must be painted either green,red ,or yellow.

2. The chimney must be painted either white, black, or
red.

3. No house may have the same color chimney as the color
of roof.

4. No house may use any of the same colors that the every
next house

uses.

5. House E has a green roof.

6. House B has a red roof and a black chimney

10). Which of the following is true ?

(A) At least two houses have black chimney.

(B) At least two houses have red roofs.

(C) At least two houses have white chimneys

(D) At least two houses have green roofs

(E) At least two houses have yellow roofs

Ans: (C)

11). Which must be false ?

(A) House A has a yellow roof

(B) House A & C have different colour chimney

(C) House D has a black chimney

(D) House E has a white chmney

(E) House B&D have the same color roof.



Ans: (B)

12). If house C has a yellow roof. Which must be true.

(A) House E has a white chimney

(B) House E has a balck chimney

(C) House E has a red chimney

(D) House D has a red chimney

(E) House C has a balck chimney

Ans: (A)

13). Which possible combinations of roof & chimney can house

I. A red roof 7 a black chimney

II. A yellow roof & a red chimney

III. A yellow roof & a black chimney

(A) I only (B) II only (C) III only (D) I & II only
(E) I&II&III

Ans; (E)

14). What is the maximum total number of green roofs for houses

Ans: (C)



15). There are 5 red shoes, 4 green shoes. If one drasw randomly a shoe

what is the probability of getting redshoe
is 5c1/9c1

16). What is the selling price of a car? cost of car is Rs 60 &

profit 10% profit over selling price Ans : Rs 66/-

17). 1/3 of girls , 1/2 of boys go to canteen .What factor and total

number of clasmates go to canteen. Ans: cannot be
determined.

18). price of a product is reduced by 30% . What percentage should

be increased to make it 100% Ans: 42.857%

19) There is a square of side 6cm . A circle is inscribed inside
the

square. Find the ratio of the area of circle to
square.

r=3

circle/square = 11/14

20). Two candles of equal lengths and of different thickness are there.

The thicker one will last of six hours. The
thinner 2 hours less

than the thicker one.

Ramesh light the two candles at the same time.
When he went to bed

he saw the thicker one is twice the length
of the thinner one. For

how long did Ramesh lit two candles .



Ans: 3 hours.

21). M/N = 6/5 3M+2N = ? Ans: cannot be determined

22). p/q = 5/4 2p+q= ? cannot determined.

23). If PQRST is a parallelogram what it the ratio of triangle PQS &

parallelogram PQRST

Ans: 1:2

24). cost of an item is Rs 12.60 7 profit is 10% over selling price

what is the selling price

Ans: Rs 13.86/-

25). There are 6 red shoes & 4 green shoes . If two of red shoes
are

drawn what is the probability of getting
red shoes

Ans: 6c2/10c2

26). 15 lts of water containing 20% alcohol, then added 5 lts of water.

What is % alcohol.

Ans : 15%

27). A worker pay 20/- day , he works 1, 1/3,2/3,1/8.3/4 in a week.

what is the total amount paid for that worker

Ans : 57.50

28). The value of x is between 0 & 1 which is the larger?

A) x B) x^2 C) -x D) 1/x

Ans : (D)





DATA SUFFICIENCY

---------------



(A) (1) alone sufficient

(B) (2) alone sufficient

(C) both together are sufficient

(D) (1) alone & (2) alone sufficient

(E) information not sufficient

1). A man of 6 feet tall is standing near a light on the top of a pole.

what is the length of the shadow cost by the man.

(1) The pole is 18 feet high

(2) The man is 12 feet high Ans:
(C)

2). Two pipes A and B empty into a resrvoir , pipe A can fill the reservoir

in 30 minutes by itself. How long it will take for
pipe A and pipe B

together to fill up the reservoir.

(1) By itself, pipe B can fill up the reservoir
in 20 minutes

(2) pipe B has a larger cross-sectional area than
pipe A

Ans: (A)

3). K is an integer. Is K is divisible by 12

(1) K is divisible by 4

(2) K is divisible by 3 Ans: (C)

4). How far it from A to B



(1) It is 15 miles from A to C

(2) it is 25 miles from C to B Ans: (E)

5). Was Melissa Brown's novel published?

(1). If Melissa Brown's novel was published she would
receive

atleast $1000 in royalities during 1978

(2). Melissa Brown's income for 1978 was over $1000



Ans: (E)

6). Does every bird fly?

(1) Tigers do not fly.

(2) Ostriches do not fly

Ans: (B)

7). How much does John weigh? Jim weigh 200 pounds.

(1) Toms weight plus Moes weight
equal to John's weight.

(2) John's weight plus Moe's weight
equal to Twice Tom's weight.

Ans: (C)

8). Is the figure ABCD is a rectangle



A -------------------
B


| 
|

| 
|


| |


| |

D --------------------
C



(1). x=90(degrees)

(2). AB=CD

Ans: (E)

9). Find x+2y

(1). x+y=10

(2). 2x+4y=20

Ans: (B).

10). Is angle BAC is a right angle 
|\


|y\


| \


|x z\


------

(1). x=2y

(2) y=1.5z

Ans: (E)

11). Is x greater than y

(1) x=2k

(2) k=2y 
Ans: (E)

12). A piece of string 6 feet long is cut into three smaller pieces.
How long is the longer of ther three pieces?

(1). Two pieces are the same length.

(2) One piece is 3 feet 2 inches lone



Ans: (B)

13). How many rolls of wall paper necessary to cover the walls of a

room whose floor and ceiling are rectangles
12 feet wide and

15 feet long

(1). A roll of paper covers 20 sq feet

(2). There are no windows in the walls

Ans : (E)

14). x and y are integers that are both less than 10. Is xy?



(1). x is a multiple of 3

(2). y is a multiple of 2



Ans: (E).

15). Fifty students have signed up for atleast one of the courses

GERMANI 1 & ENGLISH 1, how
many of the 50 students are taking

GERMANI 1 but not ENGLISH
1.?

(1). 16 students are taking GERMANI 1 & ENGLISH 1

(2). The number of students taking ENGLISH 1 but not GERMANI
1 is the same as the number of students taking GERMANI 1.

Ans: (C)







16). Is ABCD is a square ? 
A ------------- B

(1). AD = AB 
|x |

(2). x=90(degres) 
| |


| |


D ------------- C

Ans: (E).

17). How much card board will it take to make a rectangular
bos with

a lid whose base has length 7 inches.

(1). The width of the box 5 inches

(2). The height of the box will be 4 inches

Ans: (C).

18). Did ABC company made profit in 1980?

(1). ABC company made a profit in 1979.

(2). ABC company made a profit in 1981.

Ans: (E).

19). How much is Janes salary?

(1). Janes salary is 70% of John's salary

(2). Johns salary is 50% of Mary's salary

Ans: (E).

20). Is x1

(1) x+y=2

(2) y<0 
Ans: (c)

21). How many of the numbers x and y are positive? Both

x and y are less than 20

(1) x is less than 5

(2) x+y =24

Ans: (B)

22). Is the angle ACB is right angle 
A

(1). y=z 
| \

(2). (AC)^2+CB^2=AB^2 
| z\


| \

| 
\

| 
\

|x y\


C-------- B

Ans: (B).

23). How far it from town A to town B? Town C is 12 miles
east of

town A

(1). Town C is south of town B

(2). It is 9 miles from town B to town C

Ans :(C)

24). A rectangular field is 40 yards long. Find the area of the
field.

(1). A fence around the boundary of the field is 140 yards long

(2). The field is more than
20 yards width

Ans: (A).

25). An industrial plant produces bottles. In 1961 the number

of bottles produced by the plant was twice the number of

produced in 1960. How many bottles were produced altogether

in the year 1960, 61,&62

(1). In 1962 the number of bottles produced was 3 times the

number of produced in 1980

(2). In 1963 the number of bottles produced was one half the

total produced in the years 1960,1961,1962.

Ans: (E).

26). Is xy 1 ? x & y are both positive

(1) x is less than 1

(2) y is greater than 1

Ans : (E)

27). Is it a Rambus 
----------

(1). All four sides are equal / 
/

(2) Total internal angle
is / /


360 
/ /


----------

Ans: (E)

28). How many books are in the book shelf

(1) The book shelf is 12 feet
long

(2). The average weight of each
book is 1.2 pound

Ans: (E).

29). What is the area of circle?

(1). Radius r is given

(2). Perimeter is 3 times the area

Ans: (A).

ARITHMATIC

---------

1). Total distance is 120 km . Going by 60kmph and
coming back by

40kmph what is the average speed? Ans: 48kmph

2). A school have 30% from MAHARASTRA .Out of this
20% from

BOMBAY students. Find the total percentage of BOMBAY

Ans: 6%

3). An equilateral triangle of side 3 inch is given.
How many

equilateral triangles of side 1 inch can be formed from it

Ans : 9

4). A/B = 3/5 15A =
?



Ans : 9B

5). Each side of a rectangle is increased by
100% .

How much the percentage of area will be increased

Ans : 300%

6). Perimeter of the back whell = 9 feet, front
wheel = 7 feet

on a certain distance the front wheel gets 10 revolutions

more than back wheel . what is the distance?

Ans : 315 feet.

7). Perimeter of front wheel =30, back wheel
= 20. If front wheel

revolves 240 times. Howm many revolutions will the back wheel

take? Ans: 360 times

8). 205 of 6 liter solution and 60% of 4 liter
solution is mixed

What percentage of the mixture of solution

Ans: 36%

9). City A population is 68000, decreasing at a rate
of 80 per year

City B having population 42000 increasing at a rate of 120 per

year. In how many years both the cities will have same population

Ans: 130 years

10). Two cars, 15 km apart one is turning at a speed of 50kmph

other at 40kmph . How will it take to two cars meet.

Ans 3/2 hours

11). A person wants to buy 3 paise and 5 paise stamps
costing exactly one rupee. If he buys which of the following number of
stamps.

he wont able to buy 3 paise stamps

Ans: 9

12). There are 12 boys and 15 girls, How many different
dancing

groups can be formed.

Ans: 180

13). Which of the following fractions is less than
1/3

(1) 22/62 (2) 15/46



Ans: 15/46

14). Two circles , one circle is inscribed and another
circle is

outscribed over a square. What is the ratio of area of inner

to outer circle.

Ans: 1 : 2

Plumber problem ( 15 - 17)

Miss Dean wnats to renovate her house. She hires
a plumber,

a carpenter, a painter an electricial and interior deorator.

The work to be finished in one working (Monday - Friday ).

Each worker will take the full day to do his job. Miss Dean

permit only one person to work each day.

I. The painter cna work only after the plumber and
the

carpenter have finished their jobs

II. The interior decorator must do his job before the

electrician.

III. The carpenter cannot work on Monday or Tuesday

15) If the painter work on Thursday, which one of
the following

alternatives is possible?



(A) The electrician works on Tuesday.

(B). The electrician works on Friday.

(C) The interior decorator works after the painter does.

(D). The painter works on consecutive days

(E). Miss Dean cannot fit all of the workers int schedule

Ans: (B).

16). If the painter works on Friday which of the following
must be false?

(A) . The carpenter may works on Wednesday

(B). The carpenter and the electrician may work on

consecutive
days

(C). If the carpenter works on Thursday, the electrician
has

to work on wednesday

(D). The plumber may work before the electrician does

(E). The electrician may work on Tuesday

Ans: (C).

17). Which argument is possible?

(A). The electrician will works on Tuesday and the interior 
decorator on Friday

(B). The painter will work on wednesday and plumber on
thursday

(C). The carpenter will works on Tuesday and the painter
on Friday

(D). THe painter will work on Monday and the carpenter on Thursday

(E). The carpenter will work on Wednesday and the plumber on
Thursday

Ans: (E).

****************************************************************

There is one section Figures , like 4 figures are given and we have
to find the next one. In this 10 question are given





















***********

cognizant

***********

PAPER



1. A says " the horse is not black".

B says " the horse is either brown or grey."

c says " the hoese is brown"

At least one is telling truth and atleast one is
lying. tell

The colour of horse.





Answer : grey





2. A son and father goes for boating in river upstream . After

rowing for 1 mile son notices the hat of his fathe falling in
the river. After 5min. he tells his father that his hat has fallen.
So they turn around and are able to pick the hat at the point from where
they began boating after 5 min. Tell the speed of river.



Ans...6 miles/hr





3 A+B+C+D=D+E+F+G=G+H+I=17 where each letter represent
a

number from 1 to 9. Find out what does letter D and G represent
if letter A=4. (8 marks)



ans. D=5 G=1



4. Argentina had football team of 22 player of which captain
is

from Brazilian team and goalki from European team. For remainig

palayer they have picked 6 from argentinan and 14 from european.
Now for a team of 11 they must have goalki and captain
so out of 9 now they plan to select 3 from argentinian and
6 from European. Find out no. of methods available for it (2 marks)

Ans : 160600( check out for right no. 6C3 * 14C6)





5 Three thives were caught stealing sheep, mule and camel.

A says " B had stolen sheep "

C says " B had stolen mule"

B says he had stolen nothing.

the one who had stolen horse is speaking truth. the one who had
stolen camel is lying . Tell who had stolen what? (5 marks)



ans. A- camel

B- mule

C- horse



6 a group of friends goes for dinner and gets bill
of Rs 2400

. Two of them says that they have forgotten their purse
so remaining make an extra contribution of Rs 100 to
pay up the bill. Tell the no. of person in that 
group. (3 marks)





Ans - 8 person





7. In acolony there are some families. Each of them have

children but different in numbers.Following are conditions

a no of adultno of sonsno of daughtersno of families.

beach sister must have atleast one brother and should
have

at the most 1 sister.

c no of children in one family exceeds the sum of
no of

children in the rest families. 
Tell the no of families.(5 marks)





ans : 3 families



8.There are 6 people W,H,M,C,G,F who are murderer , victim ,

judge , police, witness, hangman. There was no eye witness only

circumtancial witness. The murderer was sentenced to death.

Read following statement and determine who is who.



1. M knew both murderer and victim.

2. Judge asked C to discribe murder incident.

3. W was last to see F alive.

4. Police found G at the murder site.

5 H and W never met.



( 8 marks)



The above mentioned questions are of 37 marks rest I don't

remember as they had no of condition. One which mentions about

hundustani music ,Gazals ect. is tobe solved through venn diagram.
Its of 8 marks. and another was grading 5 student which was
of 5 marks.
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analogies

---------

1. slur : speech

ans: smulge : writing (choice is
B)

7. cpahlet : shoulder

ans: ring : finger (choice is C)

8. vernanlar : place

ans: finger print : identical (choice is B)



opposite

--------

9.corphlent

ans: emaciated (choice is D)

10. officious

ans: pragmate (choice is D)

11. dextrous

ans: clumsy (choice is B)

12 -14: each sentense is broke to four sections a,b,c,d.choose which
has mistake mark (e) if you find no mistake.

12:a)phylchologists pointout that b)there are human processes

c)which does not involve d) the use of words

(choice is A)

13:a)jack ordered for b)two plates of chicken c)and a glass d)of water

(choice is A)

14:a) politics is b) (choice is A)

(are)

16 - 20: each question of group of questions is based on a passage
or a set of conditions for each question,select the best answer choice
given.

(i).if it is fobidden by law if the object of agreement is the doing
of an act,that is forbidden by law the agreement is void.

(ii). if it is of the nature that,it would defeat the provision of any
law is the agreement is void.if the object of agreement is such that thing
got directly forbidden by law it would defeat the provision of statuary
law.

(iii). if the object of agreement is fraddulent it is void.

(iv). an object of agreement is void if it involves or implies to the

personnal property of another.

(v). an object of agreement is void where the constant regards as ignored.

(vi). an object of agreement is void where the constant regards is as
opposed to public policy.

17. A,B,C enter an agreement for the division a many them of gains acqest
or by be acquit by them by them by the argument is void as

ans: ---- (choice is D)

21-25) An algorithem follws a six step process za,zb,zc,zd,ze,zf, it
is

governed by follwing

(i) zd should follw ze

(ii) the first may be za,zd or zf

(iii) zb and zc have to be performed after zd

(iv) zc must be immediately after zb

21) ans:- D



22) if za the first set zd must be

a) 3rd b)5th c)2nd d)4th ans:- A or D (probably
a)



23) zf can be 3rd or 5th------any of the six, first, second or forth
only, any of first four only none these

ans:- B

24) if zb must follw za then a)za can only 3rd or fourth

b) first or second c) can not be third d) fouth
or fifth e)none

ans:- A

25) ze is third term the no of diff operations possible is

ans:- D (dabad)



26-31) ravi plans six sep-- x,y,z,w,u,v in rows no 1 to 6 ,according
to the follwing conditions

he must plant x before y and u

he must plant y &quot; 
w

the 3rd has to be z

26) which could be in order

a) xuywzv b) xvzyuw c)zuyxwv d)zvxuwy e) wyzuvx

ans:- B

27) which is true

a) z before v b) z before x c) w before u 
d) y before u

e) x before w

ans:- D



28) if he plans v first which is second

x,y,z,w,u

so ans is 'x'.

choice is A.

29) which is true

a) x,3 b)y,6 c)z,1 d)w,2 e)u,6

ans:- E



30) if he plans b 6th which would be first and second

a) x and w b) x and y c)y and x d)w and z 
e) w and u

ans:- B

31) if he plans w before u and after v he should plan w at

a) first b)second c)fourth d)fifth e)sixth

ans:- D

32)thursday

33)a&amp;d

34)south hit

35)

36)at a certain moment a watch showes 2 min lag althogh it is fast.if
it showed a 3 min lag at that moment ,but gain 1/2 min more a day
than it does. it would show the true time one day sooner than it usually
does .how many mins does the watch gain per day.

a).2 b).5 c).6 d).4 e).75

ans : e

----&gt;(discount problem) 20%-&gt;15%then-&gt;32% 
(ans:32%)

37)in 400m race a gives b a start of 7 sec &amp; beats by 24m.in
another race

a beats by 10 sec.the speeds are

a)8,7 b)7,6 c)10,8 d)6,8 e)12,10

ans:c(10,8)

38)3x+4y=10

x cube+y cube=6 
minimum value of 3x+11y=?

ans=?

39)0.75

40)-

41)sink---7.7kms---&gt;

fills 2 1/4 t is 5.5 min. 92 tonnes enough.. sink throws out
18 tonnes/hr. avg. speed to

a)1.86 b)8.57 c)9.4 d)11.3 e)10.7

42) . 
______

/ \ 2 
2 cms

/_a_\ ______

/ \ 3 
2 cms area of the
d=50 cm square

/___b___\ ______ 
what is the area of the b=?

/ \ 4 
2 cms

/_____c_____\ ______

/ 
\ 5 2 cms 
ans=(10.7)

/_______d________\ ______

43)600 tennis players

4% -&gt;wrist band on one wrist

of remain 96%-&gt;25%-&gt;on both hands

remain no of ---(ans:312)

44)312(doubt) or 432

45)in how many ways 5e,6s,3f be arranged if books of each language
are to be kept together

a) 17, b)64800, c) 90, d)58400, e)3110400

ans:e(3!*5!*6!*3!=3110400)

46)---

47)three types of the a,b,c costs Rs. 95/kg,100/kg&amp;70/kg .how
many kg of each be blended to produce 100 kg of mixture worth Rs.90/kg,gives
that the quntities of b&amp;c are equal

a)70,15,15 b)50,25,25 c)60,20,20 d)40,30,30

ans:b

48)water milk problem

49)x+y+z=w



q)two distinct no's are taken from 1,2,3,4......28

a)probably that the no is 6 --&gt;1/14

b)probably that it exceeds 14 --&gt;1/28

c)both exceed 5 is 3/28

d)less than 13-&gt;25/28 (24/28)

e)none

ans:d

51)1200 died 6

due to acc 7

55)170%

56)c
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SECTION I - 8 questions.

Series.

1. Interchange of letters in a word and the adjacent letters
are also to be changed. given letters series like [also few condotions]

AAABBB=

ABABAB=

LET QUESTION IS ABBAAB

If we apply 25 on this it
means we have to interchange the letters at positions 2 and 5, and we have
to change the adjacent letters 2 and 5 from A to B and B to A.

That is q's A B B A A B

after Step 1 i.e interchange 2 and 5.

now change adjacent elements of 2 and 5...finally answer becomes

Ans: B A A B B A



file://Hint: As per question papers 5 questions above like but
numbers

change.

REMAINING 3 QUESTIONS:

6. To get AAABBD from BBBAAA what ot apply:-

a) 25 b) 34 c)25 & 34 d) none



SECTION II

1. Given the function f(n a b c ) = ac if n=1

f(n a b c) = f( n-1 a b c) + f( 1 a b c) +
f( n-1 b a c )

if n=1 f( 2) = ?

Ans: f( 2 a c b ) = ab + ac + bc.

2. similar question in functions.

3. [ based on function in 1.] f( 4 a b c ) the number
of terms is...?

Ans: f( 4 a b c ) = f( 3 a c b ) + f( 1 a b c ) + f( 3
b a c ) etc.

= 5ab
+ 5ac + 5bc.

4. f( 5 a b c ) = ?

SECTION III

Permutations and Combinations.

8 questions.

1. r = number of flags;

n = number of poles;

Any number of flags can be accommodated on any single
pole.

i) r=5,n=5 The no. of ways the flags can be arranged ?

ii) to iv) are based on this.

6. r= 5 n = 3 . If first pole has 2 flags ,third pole has 1 flag

how many ways the remaining can be arranged?

7.& 8. same as above.

SECTION IV

Question consising of figures consist of 4 small squares and every
square having an arrow pointing in one Direction.

GRE test of reasoning.

hint: What is the next sequence if we tilt the figure by 90 degrees
like that( clockwise and mirror images ? ).

SECTION V

In this section first part of compound word is given. Select meaning
of

the second part from the choice given:

1. Swan

2. Swans

3. Fool

4. Fools

5. Stare

6. Lady

For all above 4 choices are given.....

Eg. Swan

a) category b) music c) --- d)
none

Ans: Swansong is compound word. But song is not given as option. so

b) music is answer.

********************
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SECTION-1:

Find the sequence:

( d is always NONE 
)

1. BC CE EG GK ?

a)KN b)KU 
c)KM d)

2. AA AB BC CE?

a)EG b)EH 
c)EI d)

3. AB EF JK QR ?

a)YZ b)ZA 
c)AB d)

4.ACD EGL IKT MOB?

a)QST b)QSZ 
c)QSY d)

5.AC CG GO OE?

a)EJ b)EI 
c)EL d)

6.AE BH CM DU?

a)EH 
b)EZ c) EB d)

7. AD DP PL LV

a)VS 
b)VK c)VI d)

8. SE QU EN TI?

a)CN b)BM 
c)AI or AZ d)

SECTION-II:

FIND THE VALUES FOR FOLLOWING PROBLEM:

F(X)= 2X-1 + f(X-1) if X
NOT EQUAL TO ZERO


if f(X=0)=0

9. f(5) VALUE

a)15 b)24 c)22 
d)NONE

10.f(f(2))

11.f(16)- f(15)

12.f(16)+f(15)-480

13.f(f(x))=81 THEN VALUE OF X=

14.f(X)=4f(X-1) THEN VALUE OF X=

15.f(X)= f(X-1)+f(X-2) FOR X1 THEN X=

16.f(X)-f(X-1)=f(X-8) FOR X5 THEN X=

SECTION -III:

###In the follwing questins we r giving 'aword' which may not have any

meaning.Find differnet possible words or palandrams for the word as
per que.

I. for the following find no of distinct words that can be formed.

17. TYGHHTT

A).420 B)1540 C)840 D)NONE

18. TYGHHTY

19. TYGHHTT

20. TYGHHTT

21. TYGHASD

22. TYGHHTY

II Find NO OF POSSIBLE PALANDRAMS for following

23. TYGHHTY

24. TYHHHTYH.

/*dEAR FRIENDS DON,T CONFUSE WITH THE WORDS REPEATED.Iam sure.Words
are

same.They might have changed the questionsfor20,21,22.Concentrate on
that respect*/

25 to 32 are figures.Uhave to analyse them.He will give five figs.One
is not correct

SECTION IV:

It having complete of figs.(26
-32)

SECTION -V:

For following first find out the anagram and then note the corresponding
meaning.

33.TABLET(anagram means first u arrange the letters in correct order
like (TABLET===BATTLE . so ans is FIGHT i.e. B)

34.RUGGED

35.GORE.

36.STASSI.

For all above choices are.

A) resentment B)Fight c)Help d) Monster

37. ENFOLD

38. LAMB

39. RECEDE.

40. PLEASE.

For above 4 choices are same

A)cuddle B)sleeping c)proclamination d)ointment.

DBSS

***********



1)A"s place is 7th from left .B"s position 
is 9th from the

right.After interchanging their position A"s position 
is 11th

from the left.Howmany candidates are there?

19(ans)

2)program:step 1:x=3D0,A=3D0,B=3D1;step2:If x<10;do 
step 3 to 6

otherwise go to step 7;step 3:Y=3DA+B;A=3DB,B=3DY;step 4:print Y;

step 5:x is increased by
1

step 6:Go to step 2;

step 7:stop

A)What is the 7"th value of Y that is printed?21

B)After set of instructions is over at step 5 what is the 
last

value of X?10

C)When x=3D4 what is the value of Y printed?8

D)suppose step 5 is replased by step:x=3Dx+3 what would be the last

value of Y printed?5

E)step 1 is changed as x=3D5,A=3D0,B=3D1 what is Y?

ans : 8

3)Logical reasoning

(1)Persons A,B,C,D,E,F are playing cards.

B-- Mother,E--Niece 
of A,A--Son of B(complete Qu. is not

known.Answers are correct!)

A)Who is the winner of the
game?Ans B(Mother)

B)who are the ladies? B,E

C)second winner in the game?
Husband of B

D)who is the niece of A?

ans : B

4)Even if problem is not clear answers are correct( perfectly)

a)Train overtaking problem from R.S.Agrawal

b)A problem on pipes&cistern

A)fill the tank in 1 hour B)fill the tank in 40 min.

C)C leak the tank at 60lt/hrs

ans:24 min.

5)problem on ages

ans:38,14

6)when 29 is added to a particular number (1/3), added to 
(1/4)

particular no?

ans:24

7)Synonyms:placate,sooth,ebullient;

Antonyms: incense,friction,diet

8)3 questions on correction of sentences.

9)odd man out

1)ans 52.5 2)ans 20

10)Reasoning: 3 questions.Ex:(1)All cars 
are scooters,all

scooters are trucks.

(from R.S.Agrawal)

11)In one company women are 40 more than men______.

ans:160

12)5 problems on heights of persons.

13)clock problem 14)Age problem

ans:38,14

14)profit and loss problem

16)mixture problem

ans:1:6

17)a a b a a b a a b a a b a a b.There will be 4 choices

ans:b a a a

3 questions are given with blanks.Clue:3 or 
4 letter series

repeats depending on which ans must be selected.

18)compreshion:small paras and 3 questions

19)date of birth problems ans:saturday

20)for one problem ans is 16 2/3

21)pressure vs volume PV=3DK one problem.

22)implicateXreliable

23)A necklace is made of 5 colors of pearls.ans:68



24)ans:compendiom

25)bench,chair,thron,pedastrian,cook odd man out

26)A can do work 2 times faster than B.B can do 100 parts in 
40

min.. Howmany parts can A do?Ans:30



******************************
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NOTE : Please check answers once again. 60 qs; 90 min. (4
sections)

only this much i got , which is available here in iit-kgp

section
1.

1.which of the following involves context switch,

a) system call b)priviliged instruction

c)floating poitnt exception

d)all the above

e)none of the above

ans: a

2.In OSI, terminal emulation is done in

a)semion b)appl.. c)presenta... d)transport

ans: b

3....... 25MHz processor , what is the time taken by the instruction
which needs 3 clock cycles,

a)120 nano secs b)120 micro secs

c)75 nano secs d)75 micro secs

4. For 1 MBmemory no of address lines required,

a)11 b)16 c)22 d) 24

ans: 16

5. Semafore is used for

a) synchronization b0 dead-lock avoidence

c)box d) none

ans : a

6. class c: public A, public B

a) 2 member in class A,B shouldnot have same name

b) 2 member in class A,C " '' '' 
''

c) both

d) none

ans : a

7. question related to java

8. OLE is used in

a)inter connection in unix

b)interconnection in WINDOWS

c)interconnection in WINDOWS NT

9.No given in HEX ---- write it in OCTAL

10.macros and function are related in what aspect?

a)recursion b)varying no of arguments

c)hypochecking d)type declaration

11.preproconia.. does not do one of the following

a)macro ...... b)conditional compliclation

c)in type checking d)including load file

ans: c


SECTION B


__________

1.enum day = { jan = 1 ,feb=4, april, may}

What is the value of may?

a)4 b)5 c)6 d)11

e)none of the above

2.main

{

int x,j,k;

j=k=6;x=2; 
ans x=1

x=j*k;

printf("%d", x);

3. fn f(x)

{ if(x<=0)

return; 
ans fn(5) ....?

else f(x-1)+x;

}

4. i=20,k=0;

for(j=1;j<i;j=1+4*(i/j))

{

k+=j<10?4:3;

}

printf("%d", k); 
ans k=4

5. int i =10

main()

{

int i =20,n;

for(n=0;n<=i;)

{

int i=10

i++;

}

printf("%d", i); 
ans i=20

6. int x=5;

y= x&y

( MULTIPLE CHOICE QS)

ans : c

7. Y=10;

if( Y++9 && Y++!=10 && Y++10)

printf("........ Y);

else printf("".... )

ans : 13

8. f=(xy)?x:y

a) f points to max of x and y

b) f points to min of x and y

c)error

d) ........

ans : a

9. if x is even, then

(x%2)=0

x &1 !=1

x! ( some stuff is there)

a)only two are correct

b) three are correct

c), d) ....

ans : all are correct

10. which of the function operator cannot be over loaded

a) <=

b)?:

c)==

d)*

ans: b and d


SECTION.C (PRG SKILLS)


--------

(1) STRUCT DOUBLELIST

{ 
DOUBLE CLINKED

INT DET; 
LIST VOID

STRUCT PREVIOUS; 
BE GIVEN AND A PROCEDURE TO DELETE

STRUCT NEW; 
AN ELEMENT WILL BE GIVEN

}

DELETE(STRUCT NODE)

{

NODE-PREV-NEXT NODE-NEXT;

NODE-NEXT-PREV NODE-PREV;

IF(NODE==HEAD)

NODE

}

IN WHAT CASE THE PREV WAS

(A) ALL CASES

(B) IT DOES NOT WORK FOR LAST ELEMENT

(C) IT DOES NOT WORK FOR-----

(2) SIMILAR TYPE QUESTION

ANS: ALL DON'T WORK FOR NON NULL VALUE

(3) VOID FUNCTION(INT KK)

{

KK+=20;

}

VOID FUNCTION (INT K)

INT MM,N=&M

KN = K

KN+-=10;

}


SECTION D


--------

(1) a=2,b=3,c=6 c/(a+b)-(a+b)/c=?

(2) no.rep in hexadecimal, write it in radiv 7

(3) A B C D E

* 4

---------- find E ANS: 13

E D C B A

------------

(4) GRE-MODEL TEST-1, SECTION-6(19-22)

(5) M HAS DOUBLE AMOUNT AS D, Y HAS RS. 3 MORE THAN HALF OF AMOUNT
OF D

THE ORDERING A,B,C 
M C D C Y

ANS:DATA INSUFFICIENT 
D C M C Y

(6)IN STASTIC MEN CAUSE MORE ACCIDENTS THEN ONE CONCLUSION

(A) MEN DRIVE MORE THAN ONCE

(B) STASTICS GIVE WRONG INFORMATION

(C) WOMEN ARE CAUTION THAN ME ANS; C(VERIFY)

(D)-----ETC

(7) P,Q,R,S,T,U -SECURING GRANT;TWO TOURIST PARTIES AND THEN
TWO SECURITY GAURDS SHOULD GO WITH EACH PARTY

____________________________________________________________________

P AND R-ARE ENEMIES, 
Q DOES NOT GO SOUTH

P&S-ARE WILLING TO BE TOGETHER

______________________________________________________________________

THE TWO PARTIES MAY GO SOUTH&NORTH RESPECTIVELY

AT ONE POINT EACH MAY PASS EACH OTHER THEN GAURDS CAN EXCHANGE

6 Q BASED ON THIS (8)pq-r/s =2 what is q inference 
a,n&d

(a) a can do n units of work in strs,a&b can do n units of work
in 2 hrs in how many hrs n units of work ans:3 hr 30 min 
p = (2s+r)/q

____________

main()

{

int var=25,varp;

varp=&var;

varp p = 10;

fnc(varp)

printf("%d%d,var,varp);

}

(a) 20,55(b) 35,35(c) 25,25(d)55,55

[ c++,c,dbms interview]

[fundamentals]

this is new paper

_______________________________________________________________________


application -software


____________________

part-1: 28-questions

(5)ingless ans:RDMS

(1)bit program-ans d

(2)c ans

(3)+ 0 ans

(4)00p--ans linking

(5)------

(6)-------

(9)25--45 even no. ans--10

(10) 10 <100 ---ans=n+9

Section I: computer awareness(i.e general things about computer)

Q.15 -ve marks -1/4

Section II: Simple C- language Q. 15 
& -ve marks: -1/4

Section III: On pointers & structures

and C++,JAVA( only 1 on this) Q.10 each
quetion -2 marks

-ve marks: -1

Section IV: Analytical 
Q.20 each quetion - 2 marks.

-ve marks: -1/4

VIJAYA from each section Iam giving one are to quetions also because

for checking whether the same paper or not. And for doubtful
answers also I am writing quetions but not writing answers for these
quetions.

SECTION-I

1). Piggy backing is a technique for

a) Flow control b) sequence c) Acknowledgement d)
retransmition

ans: c piggy backing

2). The layer in the OST model handles terminal emulation

a) session b) application c) presentation d) transport

ans: b application

3) ans: a 
odd numbers of errors

4)Q. In signed magnitude notation what is the minimum
value that

can be represented with 8 bits

a) -128 b) -255 c) -127 d) 0

5) c 
20

6) a 
120

7) b 
synchronise the access

8) a 
system call

9) b 
the operating system

10) a 177333

11) d used
as a network layer protocall in network and


windows system

12) b has
to be unique in the sub network

13)Q. there is an employer table with key feilds as employer no.

data in every n'th row are needed for a simple
following queries

will get required results.

a) select A employe no. from employe A , where exists from employe
B

where A employe no. = B employe having (count(*) mod n)=0

b) select employe no. from employe A, employe B where

A employe no.=B employ no.grouply employe no.having(count(*) mod n=0
)

c) both a& b

d)none of the above

14)Q. type duplicates of a row in a table customer with non uniform

key feild customer no. you can see

a) delete from costomer where customer no. exists

( select distinct customer no. from customer having count )

b) delete customer a where customer no. in

b rowid

c) delete customer a where custermor no. in

( select customer no. from customer a, customer b )

d) none of the above

15) c Volatile
modifier



---------- Section I over with 15 quetions -------------------




SECTION-II

Section II is not covered completly But it is very very easy

. You can do it very easely.

1) ans: recursion

2) long int size

a) 4 bytes b) 2 bytes c) compiler dependent 
d) 8 bytes

ans: compiler dependent

note: order of a,b,c,d are doubt but answer is correct.

3) x=2,y=6,z=6

x=y==z;

printf(%d",x) ?

4) if(x2)?3:4

5)

6)

7) ans: c 6 ( quetion on enum )

8) ----

---

---

--

14) c : class A,B and C can have member functions with
same name.

15) ans: d none of the above




SECTION-III



1) ans: b It does not work
when rp is the last element in the

linked list

2) ans: a always

3) ans: b 
13

4) ans: b 16

5) ans: d 55,55

6) ans: c 
5,10,10,3

7) ---

8) ans:d 
4

9) ans: c 
5

10)ans: c semicolon missing

SECTION-IV

following are not in order:

2. M D Y 
ans: (a)

6. 10 in 4 seconds,

? in 6 minutes 
= 10x6x60/4 = 900 ans: (a)

7. a=2, b=4, c=5

(a+b)/c - c/(a+b) = 11/30 (ans).

8. 100(100000000+100000000)/10000 = 2x1000000 (ans).

9. what does the hexanumber E78 in radix 7.

(a) 12455 (b) 14153 (c) 14256 
(d) 13541 (e) 131112 ans: (d)

10. Q is not equal to zero and k = (Q x n -
s)/2 find n?

(a) (2 x k + s)/Q (b) (2 x s x k)/Q 
(c) (2 x k - s)/Q

(d) (2 x k + s x Q)/Q (e) (k + s)/Q



(from GRE book page no:411)

data:

A causes B or C, but not both

F occurs only if B occurs

D occurs if B or C occurs

E occurs only if C occurs

J occurs only if E or F occurs

D causes G,H or both

H occurs if E occurs

G occurs if F occurs

NOTE: check following answers.

11. If A occurs which of the following must occurs

I. F & G

II. E and H

III. D

(a) I only (b) II only (c) III
only (d) I,II, & III

(e) I & II (or) II & III but not both 
ans: (e)

12. If B occurs which must occur

(a) D (b) D and G (c) G and
H (d) F and G (e) J ans: (a)

13. If J occurs which must have occured

a) E (b) either B or C (c) both E & F (d) B 
(e) both B & C ans: (b)

14. which may occurs as a result of cause not mentioned

(1) D (2) A (3) F

(a) 1 only (b) 2 only (c) 1 & 2 
(d) 2 & 3 (e) 1,2,3 ans: (c)

15. E occurs which one cannot occurs

(a) A (b) F (c) D 
(d) C (e) J 
ans: (b)

11 to 15:- ----------- e , a , b , c ,
b ---------------

Below are in order:

16. to 20. answers:

e

a

c

a

--------------- 
over ----------------

In written test in each section you have to get minimum marks i.e

you have to pass in each section. There will be questions
from

C, C++, JAVA. about 10 questions in C++ in the written test.



*******************************

HUGHES

*******************************

Source : IIT Kanpur Dated :25/08/97

section A 30m (Compulsary)

section B or C 20 m(changed )m

Attempt either B or C sec B contains CST

Better to attempt Electronics paper(Those who are having electronics
background)

-----------------------------------------------------------------------

SECTION A

1. Which of the folowing is not correct

a. (x+y)'=x'.y' b. (x'+y')'=x.y

c. (x'.y')'=x+y d. (x'+y')'=x'.y' 
[d]

2. Question on logic ckt. U have to find the output

ans. AB'+CD'+EF'

3. Output of MUX

_________

c-----| |

c'----| |-------Y

c'----| | 
ans. A xor B xor C

c-----| |

---------

| |

A B (select lines)

4.If X and Y are two sets. |X| and |Y| are corresponding

coordinates and exact no.of functions from X to Y is 97

then

a. |X|=97 |Y|=1 b. |X|=1 |Y|=97

c. |X|=97 |Y|=97 d. .....

5. If two dies are thrown simultaneously what is the prob.

of one of the dice getting face 6 ?

a. 11/36 b. 1/3 c. 12/35 d. 1/36 
[a]

6. The relation ,<,on reals is

a. a partial order because of symmetric and reflexive

b. ... 
antisymmetric and ....

c. not ...... .. 
asymmetric and non reflexive

d. ... 
.... not anti-symm and
non reflexive

7. In C language the parameters are passsed by

a. values b. name c.referrence d....

8. Advantage of SRAM over DRAM

ans. faster

9. Diasy chaining related question (refer Z80)

a. uniform interrupt priority

b.non .... ....

c.interfacing slower peripherals

d.....

10. RAM chips arranged in 4X6 array and of 8kX4bit capacity

each. How many address lines reqd. to access each
byte

a. 12 b. 16 c.15 d. 17

11.Question related to AVL trees regarding how many no.of

nodes to be changed to become balanced after addition
of

a leaf node to a particular node.

ans . 3

12.When following sequence is insertedin the binary search tree

no.of nodes in left and right subtrees

52 86 64 20 3 25 14 9 85

13.Method used for Disk searching..

a.linked list b.AVL c.B-tree d. binary tree

14. Which of the following is correct statement.

a. 1's complement can have two zero re[resentations

b.2's ... ... 
represent an extra neg. number

c.2's & 1's have no difference in representing 16-bit
no.

d.......

15. AX=B where A is mXn ,b&X are column matrices of order m

a. if m<n, X has infinite solutions

b.if m=n, rank of A <n then X has trivial solutions

c.... d....

16. The option avialable in C++, not C:

a.dynamic scoping

b.declaration in the middle of code block

c.seperate compiled and linked units

d. ....

17. int a[4]={1,2,3,4};

int *ptr;

ptr=a;

*(a+3)=*(++ptr)+(*ptr++);

A part of code is shown. The elements
in A after

the execution of this code.

a.1 2 3 4 b. 1 2 3 6

c. compilation error d.1 2 2 4 
[a]

18. Critical section program segment is

a. enclosed by semaphores with P & V operations

b. deadlock avoidance

c. where shared resources are accessed

d. ...



19. when head is moving back and forth, the disk scheduling

algorithm is _____

a) scan b) sstf 
c) fcfs d).....

20. how many times the loop will execute

LOOP LXI B,1526H

DCX B

JNZ LOOP

a)1526H times b) 31 c)21 
d)38

21. the addressing mode in which the address of the operand is

expressed explicitly within the instruction

a)index addressing b)absolute 
c)indirect d) immediate

22. (A - B) U (B - A) U (A ^ C) = ?

where A,B are two sets A' , B' are compliments of A and B

a) A U B b) A ^ B c).... 
d).....

23. the network that does not use virtual circuit

a) IP b) X.25 c).... 
d).....

24. source routing bridge

a)source will route the frame

b)frame will routed with info in header

c).... d).....

26. cache access time 100 msec. main memory access time 800 msec

if the hit ratio is 95% , what is mean access time ...

27. the module that should be always reside in main memory is

a) loader b)link module c)... d)....

.... and some questions related to

1. addressing mode 2.assembler passes 3.linking
and loading

4. file directory search 5. turning machine

6. finite state machine 7. daisy wheel

28. The order of algorithm to merge the two sorted lists of

lengths m and n is

a. O(m) b. O(n) c. O(m+n) d. O(log(m)+log(n))

29.A chocolate block is of 4 X 4 size.How many cuts are needed

to make 1 X 1 size blocks. No simultaneous vert. &
horz. cuts.

30. Which among the following is not correct

a. O(n) O(log n) .. 
likewise

-----------------------------------------------------------------------

********************

Huges company

********************

1. CSMA/Cd protocol used in

Ans : Ethernet

2. Checksum in IP packet is

Ans : Sum of the bits and 9's complement of sum

3. Inselective repeat Max Seq is given find windowsize

i.e. Ans : (15+1)/2 = 8

4. Main memory cache direct mapping

Ans : 64

5. Address lines and data lines for 4K x 16

Ans : Addr 12, Data 16

6. Infix to postsize commession uses

Ans : operator stack

7. Printing ofstatic variable

Ans : 11

8. Ans : 1,2,3,4 ( Program is given

array[0] = 1;

array[1] = 2;

array[2] = 3

array[3] = 4

ptr = array[0]

*(arr+3) = *(++array ) + *(array-1)++)

)

There may me some mistique in writing the program. Check it out.

Answer is correct

9. One Question on Scheduling

Preemptive

10. Which of the following is not memory model

(1) buddy system (2) monitor (3) virtual ... etc.

11. Hight balancing AVC time

Ans : 3

12. Virtual to physical address mapping

page table given

13. regular expression of identifier

L(LUD)*

14. Simplification in boolean Algebra

Ans : xz

15. Logical gate is given we have to find what is that

Ans : NOR

16. Solution for Diriving philofphing

Ans : d

17. The feature C++ have and c donot have

Ans : Variables can be declared inside also.

18. Number of nodes with degree two in a binary tree of n leaves

Ans : n-1

19. Difference between syachronous and asynchronous transmission

20. The question on RS232

(Use of sfart bit in Rs 232 protocal)

21. Floating point representation

Ans : 2's complement

1 more negitive number

Two simple probability questions are also there

Section A : 30

Section B : 20

Total 50 questions in 1 hours

P.S. Paper may change. Delhi question paper is not given here.



****************

HUGES

****************



(A)Aptitude :25 Qns, 20 Minutes



1. 2 x 4 analytical GRE type qns

2. 2-3 Reasoning qns (GRE type)

3. Probability of getting a sum of 7 when two dices are thrown together

4. Rest quantitative questions



(B) Technical: 50 Qns, 45 Minutes



1. 3 qns on operating systems. I qn on dijkestra
algorithm



2. Using which pin it's possible to address 16 bit addresses even though
there are only 8 address bits in 8085? Ans: ALE

3. Voltage gain for an amplifier is 100 while it is operating at 10
volts. What is the O/P voltage wen i/p is 1 volt

4. Quality factor indicates a0 Quality of inductor b) quality of capacitor

c) both

5. Qns related to bridges, routers and generators, which OSI layer
they

corresspond to. (Refer to stevens 4th chapter)

6.OPAmp's I/P ciurrent, O/p current and CMRR is given, what is the
voltage gain.

7. 2-3 qns on scope of static variables in C. Qn to view o/p odf a
C static var

8. Qn to print a value of a pointer

9.resistance increases with temperature in a) Metal b) semiconductor

10. A qn to find the physical address from a given virtual address,
virtual to physical address table was provided

11. 16 bit mantissa and 8 bit exponent can present what maximum value?

12. 4 bit window size in sliding window protocol, how many acknowledements
can be held?

13. Security functionality is provided by which layer of OSI

14. Frequency spectrums for AM, FM and PM (figure given, u'veto tell
which Kind of modulation it belongs to)

15. Among AM and FM which is better and why?

16.LASt stage of TTL NAND gate is called: Ans: Totem Pole Amplifier

17. SR to JK flip flop conversion. Ans: S=JQ', R=KQ

18. LSB of a shift register is connected to its MSB, what is
formed: Ans:

RING Counter

19. 2-3 Qns based on Demorgan's laws (identiies: (A+b)' = A'b', etc)

20. 2 qns on Logic gates (O/p of logic gates)

21. Diff in IRET and RET statements of 8086

22. How many address bytes are required to address an array of memory
chips (4 * 6), each chip having 4 memory bits and 8k registers.

23. Diff. in memory mapped and I/P O/P mapped Input/Output (Refer a
book on Microprocessor)

24. Qn on pipeline architecture

25 QN on LAPB protocol

Iam really sorry for responding so late.

I wanted to sit with your work but I could not ( because of some problems
)

I remember very little about the Dharma test pattern.

There was an Apptitude test. Quantitative and Analytical.

The Quantitative is very easy. You should prepare from GRE or any 
CAT

Material.

The Analytical part is mostly from Barrons Guide. I remember two questions
.

they are from Barron's guide. It is something about a village called
"kaya-kaya " where half the people speak truth and half lies. There was
one more about set of houses of itallian,germans,romman etc in a row whose
chimmney colours were

given, their favoritr drinks were given. I hope you will find these
questions in Barron's guide. I did not get a Barron's guide to search them
for you. The interview was mostly about C , C++ . They are mostly working
on C++. That will help if you know. They are working on their own SQL.
You should brush up your fundas in DBMS. In interview there are questions
in UNIX Internals also. Hope this info is of some use to you. Good Luck.
Keep me informed on the proceedings of the campus.

Hughes paper:

total 50 questions (1 hour).

Paper is like GAte CS .

section A : compulsory for CS and Comm students.

section B : for CS only

section C : for comm only.

questions :

1. given a digital ckt with nand gates. what is o/p Ans.
nor gate

2. given an logical expr. x,y,z. simplify ans. xz

3. It is recommended to use which type of variables in a recursive
module.

Ans. static variables.

4. which one of following is not memory management model?

given buddy system, monitors, paging, swapping Ans. monitors

5. what m/c is used to recognize context free grammar ? Ans. pushdown
automata

6. Which type of grammar can be recognized by finite state m/c Ans.
right linear

grammar.

7. proc() {

static i=10;

printf("%d",i);

}

If this proc() is called second time, what is the o/p 
Ans. 11

8. int arr[] = {1,2,3,4}

int *ptr=arr;

*(arr+3) = *++ptr + *ptr++;

Final contents of arr[] Ans. {1,2,3,4}

9. TCP/IP hdr checksum : what method is used ?

Ans. one's complement of sum of one's complement.

10. CSMA/Cd is used in which lan Ans. ethernet

11. 8085 pgm : LXI sp, 2021,

LXI b, 1234 (??)

push b

contents of stack after pushing ?

12. One question on synchronous transmission :

ans. Timing info is embedded in data itself

13. What for start bit is used in RS232 transmission.

14. One solution for deadlock prevention for dining philosopher's problem

Ans. Allow one person to take first left stick and then right stick

and remaining persons in reverse order.

15. 4bit seq no in sliding window protocol with selective repeat.

what is the max no. of acks that can be held at transmitter

ans. 8

16. given a height balanced tree. If we add one more node , how

many nodes gets unbalanced ? Ans. 3

17. Given a arbitrary pointer to an element in a singly linked
list?

what is the time complexity for its deletion . Ans.
O(n)

18. what is the diff b/n c and c++

a. dynamic scoping

b. nested switching

c. declaration of variables in any code block

d. separation of compilation and linking

Ans. c (??)

19. which one is false ?

a. 0<x<y, n power x = O(n power y)

b. root of log(n) = O(log logn)

c. O(logn/100) = O(100 logn)

d. 2n not = O(n power k);

Ans. b or a. (??)

20. S-S+S; s-s*s; s-a

how many parse trees possible : a+a*a+a Ans. 5

21. 4-1 demultiplexer is to be implemented using a memory chip.

how many address lines and word length required
Ans. 4, 1

22. Vector intr mechanism. in 8085.

Ans. fixed locations in memory when an intr comes.

23. ARP is used for : Ans. IP to MAC addr conversion.

24. given 100 to 999 nos. Probability of picking a no. with out

digit 7. Ans. 18/25.

25. Ten film rolls. 3 defective, prob. of picking up 2 defective

rolls with out replacement Ans. 6/90

26. The purpose of hashing is :

Ans. O(1) complexity

27. Given adjacency matrix for a directed graph with n vertices

and e edges. How much time will it take to find
out indegree

of a vertex Ans. O(n)

28. No. of nodes of degree 2 in a binary tree with n leaf nodes.

Ans. n-1

This paper was contributed by Mr. Thejo Prakash pillai

I am thankful to him for this



*****************

HUGHES-99

*****************

It consist of two section part A and B or C

For CSE student part A & B is better.

Here i am writting some Questions from part A and B for CSE student

Questions are not in order.

***************************************************

1.

f(char *p)

{

p[0]? f(++p):1;

printf("%c",*p);

}

if call that fuction with f(Aabcd) what is the output??

ans:dcbaA (Just reversing the string

2

f(char *p)

{

p=(char *)malloc(sizeof(6));

strcpy(p,"HELLO");

}

main()

{

char *p="BYE";

f(p)

printf("%s",p);

}

what is the o/p???

ans:HELLO

3

To sorting array of 10 elements which sorting is best

a)slection

b)bubble

c)tree sort

d)....

ans:a

4

To saving space paoint of view which sort is best

a)selection

b)insertion

c)both a & b

d)...

check it once.U Can easy Aanswer this question(UCA)

5

Which statement is wrong on heap

a)Any two childs should not same

b)..

c)..

d)...

ans:a

6)

one more question on heap

UCA

7

read about cyclometric complexity..

8

how many null pointer are there in N number binary tree

ans:N+1

9

Two sorted list of size n what are the maximum comparison in merge

ANs:2n-1

10

converting 41.685 to binary

11

pc is incremented while executing ---------- instruction

ans:fetch instruction

12

this is gates (NAND)problem

It means some gate figure has given with all NAND gate we have write

equavalent gate

ans:OR gate

13

x:validating :Are we producing product right

y:verification:Are we producing right right

a)X is wrong statement

b)y is "

c)x and Y "

d)x & y is right statement

14

NFS some queston in NSF.

see distibuted operation System book


by tenaun bamab

15.

IP & IPX is implemented in trasport layer.......

mama all our friends can answer this question .Here i am unable to
recall

that question.If u a have any doubts on Ip & IPX contact HARI because
he

did his project is B.Tech in that protocals

UCA

16

comparison between hashtable and binary tree

ans:a

UCA

17

client server is working in asyn mode then how communication will take
place

bt client and server.

UCA

18

once context swithing occures then ------------will take place

a)saving register

b)saving stack

c)....

d).....

UCA

19

If precondition is failed what u say about postcondition?

Note:Read about preconditon and postcondition

20

whiling download java applete then web broswer do the folling

a)checking the class structure..

b)...c)....d).....

Read about this

21

Strings in Java

a)Mutable

b)variable length string

c)...

d)....

ans:b

22

in Internet Transprot layer which is not a protocol

a)/etc/host

b)TCP

c)UDP

d)...

UCA

23

Which is not specified in CODD's rules

a)....

b)....

c)...

d).....

It is from DBMS question

Refer NAVATHI BOOK chapter -9 appendx topic is CODDE's rules

24

what is the use of Normalization

a)....b)....c)...d)...

Any one can answer

25

Futional dependecy x-y is shows that

a)if x1=x2 then y1=y2

b)...c)...d)...

ans:a

26

one question on IP addsress 243.65.77.8 some thing

a)...b)..c)..d)...

every one can answer

27

If A sends a message to B with encryption then key is

a)A public key

b)B public key

c)A private key

d)B private key

ans:b (Check it once)

28

In a class only declaration of the function is there but defintion
is not

there then what is that function

ans:virtual function

29

what is not necessary condition in dead lock

ans:a

30

One question from multible inheritance...

a)..b)..c)...d)......

31)

ICV protocal

i don't know about this mama .Till now i didn't heard that protocol

mama..just know what is that then u can answer this question

32

one question from catches like write-through protocal etc

33

catche access time is 100ns ,memory access time is 1000ns and hit ratio

is 0.9 then what is average memery access time

a)100ns

b)200ns

c)400ns

d)500ns

ans:b

***********************************************************************

Hai friends,

Here am sending 32 question
remainings are some C questions and easy i didn't remeber correctly,sorry.If
do 30 question u can select easly.Then remainning things are depend on
ur interview.

HUGHES is not bother about
ur GREE english etc it what Indepth at any field of CSE.

I wishing that atleast 4 or persons
will be slected in HUGHES from our collge(N.B.K.R.S.T).

If u have any doubts at any aspect please ask me.
I am praying GOD every our will settle in good position with 10 or 15 days.

After our selection is competed we allwe meet in one place
before our job appointment

bye....

with love

Haran's Friend.

**************

HUGHES-99

**************

SECTION A:30 BITS

SECTION B:20 BITS

SECTION C:20 BITS

SECTION A IS COMPULSORY

ATTEMPT EITHER SECTION C OR SECTION B

FOR ELECTRONICS BACKGROUND,IT IS BETTER TO ATTEMPT SEC B



SECTION C:

1.an lead compensator zero is at Z=Zc, pole is at P=Pc

then the following is correct

a.Pc Zc,pc<0,zc<0

b.

c.

2. gain margin of g(s)h(s)=1/s(s+k);

a. sqrt(1+k2)

b.0

c.infinity

d.1

3.machestor code does not improves

A. clock recovery

b. bandwidth efficiency

c.

4.possion distribution is used for

a. used in FSM

b.

c.used for queuing delay system of mutually identical events of arrival

d. both a and c

5. no.of filpflops for mod 11 counter

a.four

b.five

c.

6. no of comparators required for 4 bit parallel A/D comparator

a. 4

b. 16

c. 15

d. none

7. if even parity is used for parity generation, what is the

hamming distance

(simple fig is given)

ans:2

8. the code set is {00000,00111,11100,11011}

what is the error detecting and correcting capability?

ans:2,1

9. operational amp characteristics following is correct:

1. input impedance is 0

2. output impedance is infinity

3. input impedance is infinity

4. gain is infinity

which combinations are correct?

10. band pass signal having frequencies 2.5k and 4.5k?give the

sampling freq

a. 9k

b. 4k

c. 4.5k

d. 7k

11. defination of avalanche diode multiplication

12. more no of ripples are present in the diagram?which is correct

a. lower order filter

b. high order filter

c.

13. if CPU have one interrupt pin and on to connect with external

devices with some priority?

which type of the following is used?

a. parallel priority interrupt

b. daisy chain

c. RS filpflop

d.

14. one megabit file transfer, serially on 9600 baud one start bit and

two stop bits, then how much time it takes (approx)

a. 4 hours

b. 2 hours

c. 20 minutes

d. 2 minutes

15. IEEE 802.5 is

ans: TOKEN RING

16. Code sequence is given

what is the error correcting distance?

17. bit stuffing used in HDLC Protocol for

ans: b is correct(read on text book)

18.

19.

20.

section A AND B:(BOTH MIXED)

1. If "AaBbCc" is passed to the char

char x(*a)

{

a[0]?x(a+1):1;

printf("%c",a[0]);

return 1;

}

what will be the output?

2. f(*p)

{

p=(char *)malloc(6);

p="hello";

return;

}

main()

{

char *p="bye";

f(p);

printf("%s",p);

}

what is the o/p?

ans:bye

3. when the program counter is incremented in the instruction cycle

a. fetch cycle

b. int cycle

c. execuation cycle

d.

4. two sorted lists of n elements will take at least

fine the order of complexity?

a. 2n

b. n/2

c. square(n)

5. logic diagram is given? find the expression

ans: OR gate

6. question on JAVA string

ans: string ends without a null character

7. cache access time is 100ns. main memory access time is 1000ns, hit
ratio

is .9, find mean access time?

ans :200ns

8. which is not suitable to find out IP address

ans:ARP

9. about deadlock condition

10. convert 41.6875 into binary

11. read about IP AND IPX

12. read about NFS

13. DHCP is

a. for routing

b. for network address conversion

c. for diagnosis

d.

14. execution phase can be

a. pipelined

b. no parallelism is possible

c. vector processing

d.

15. In public key algorithm , A wants to send message to B .....

which key is used

a. A public key

b. A private key

c. B public key

d. B private key

16. to prevent replay attacks in transmission

a. symmetric encoding

b. Asymmetric encoding

c. for every exchange, key should be changed

17. virtual functionality is used in C++

a. dynamic binding

b. if the derived func is present but base class not present

c.

18. if there are n nodes in a binary tree, how many null pointers are

there

ans:n+1;

19. if heap sort contains n elements, no of comparsions required are

a. log(n)

b. height of heap sort

c.

d.

20. question on ICV(integrity check)

21. which of the following is efficient in terms of space

a. insertion sort

b. quick sort

c. selection

d. both a and c

22. in 32 bit representation, the range of numbers in 2's complement

form

ans :-2 to the power of 31 to 2 to the power of 31 minus 1

23. about normalization

24. socket is implemented in TCP Layer. which of the following is

related to TCP layer

ans: port number

25. in reentrant procedure, which should be not used for passing

parameters?

a. passed by reg

b. by direct

c. by indirect

d. by stack

26. which is related to thread

a. separate switching reg

b. 
" stack

c. 
" address space

d.

27. flow control is used for

a. congestion at receiver

b.

c.

d.

28. 5 questions on DBMS are there

29. in global static variable , declartion in a file

a. localization of scope

b. persistance of the value through out the file

c.

d.

30. in sorted table contains elements , which of the searching is

false

a. hash table

b. binary searching

31. in demand paging overhead of context switching is more due to

a. copy processes from disk to memory

b. viceversa

c. to get associative table

d. swapping to the disk

32. when write through is better than write back(related to cache

memory)

33. which is false when normalization is used?can't express

34. I :verification: are we doing right product

II: validation:are we doing product right

a. I AND II ARE TRUE

b. I AND II ARE FALSE

c. I TRUE AND II FALSE

d. I FALSE AND II TRUE

35. A table contains less than 10 elements which one is fastest

a. bubble sort

b. selection sort

c. quick sort

36. about subroutine, precondition is false. what about post condition

a. post condition is not defined

b. post condition is always true

c.

d.

37. When static variables are used, which one of the following is

not possible?

a. dynamic run time

b.

c.

38. in product of x and y,

if(x=0|y=0)


y=1;

else


y=0;

(not cleared)

what is cyclometric complexity?

a. 3

b. 2

c. 1

d. 0

39. CREATE TABLE NEW AS SELECT BIG FROM EMP

The above SQL statement is correct or not?

(question is not cleared)

40. path testing is

a. white box

b. black box

c. installation test

d. environment test

41. program is given?





above algorithm represents what type of

search?

a. binary search

b. interpolation search

c. sequential search

d.

(may be "b" is correct);

42. if x-y in a relation R, x1 and x2 are in x, y1 and y2 are in y

(question not cleared), about functional dependancy

a.x1=x2 and y1=y2

b.

c.

43. in a down loading from website ,which one is correct?

ans: check the byte code and indicate the error, if any.

44. about UDP

one Address is given but that is not the state table

what will it do the packet

a. packet is discarded

b. packet is sent to ethernet server

c. packet is sent to other address

d.

45. in associated memory for fast accessing

which one is used

a. single linked list

b. double "

c. hash table



Satellite Networks

The Hughes Network Systems (HNS),

VSAT product line is designed to provide cost-effective Telecommunications
to a wide array of industries around the

world. VSATs are effective tools for LAN internetworking, multimedia
image transfer, batch and interactive data transmission,

interactive voice, and broadcast data and video communications.



Wireless Networks

Hughes Network Systems developed the AIReach family of universal wireless
products to meet a broad spectrum of applications in demand, including
digital mobility, wireless local loop, wireless data, and broadband business
applications.



Enterprise Networks

Hughes Network Systems (HNS) Radiant family of networking products
include award-winning backbone, internet- working, and edge switches with
a single network management system, providing reliable and flexible
solutions
for the public and private service provider.



Consumer Satellite Products

HNS offers a series of consumer satellite products designed to provide
world-class, direct-to-home satellite TV and Internet access.



CableServe

CableServe is an integrated access system designed to enable HFC cable
television distribution networks to carry telephony and broadband data.





Explore a world of satellite solutions






VSAT Overview

Why Use VSATs?

VSAT networks provide rapid, reliable satellite transmission of data,
voice, and video to an unlimited number of geographically dispersed

sites or from these sites to headquarters.

What Equipment Do I Need for My VSAT Network?

Each site is equipped with a VSAT terminal consisting of an antenna,
outdoor electronics mounted on the antenna for signal
reception/transmission,
and indoor electronics for connection to customer computer, telephone,
and video equipment.

Shared Hub Services

Technical Support Services

Customer Assistance Center

Hughes Shared Hub Services

Cost-effective real-time communications across town, or across the
country.

Shared hub services from Hughes Network Systems: Making Satellite Technology
work for your business.

Today, businesses in a wide variety of industries are relying on VSAT
(very small aperture terminal) satellite networks to help them

communicate with their remote locations no matter where they are 
across town, or across the country.

Even for businesses with relatively small numbers of remote sites, satellite
networks can be one of the most cost-effective ways to obtain efficient,
on-line communications.

The central the heart of your network.

VSAT networks rely on a central hub station to serve as the transfer
point between the remote locations, the satellite, and company headquarters
or data center. The hub contains the necessary uplink/downlink equipment
to transmit signals to and from the satellite.

For many companies, it is not desirable or feasible to own and operate
their own dedicated hub. The solution: shared hub services from

Hughes.Shared Hub Services from Hughes give you the efficiency of on-line
communications at a cost that agrees with your bottom line.

Hughes Network Systems owns and operates four full-service satellite
hubs located across the country. The hubs operate seven days a

week, 24 hours a day. For a reasonable monthly fee, you have all the
advantages of on-line satellite communications:

Data transmission

Real-time video

Audio transmission

Disaster recovery

Pilot programs for new networks or applications

Using shared hub services means you avoid the expense of building your
own hub and maintaining a technical staff to run it. You contract for only
the amount of satellite bandwidth that you need on satellites built by
the world's largest satellite manufacturer.

And when your network needs to grow or change, you can count on

Hughes to reconfigure the network quickly with a minimum of expense.

Disaster recovery: being ready for the unexpected.

No one likes to think that a disaster either natural or could
hit the network. But in the event of a hub failure, whether it's a shared
hub

or a hub dedicated to one company's operation, Hughes is ready to put
you back in business.

The Germantown hub provides complete backup service in the event of
disaster. Hughes can bring your network back up rapidly and will keep it
operating while hub repairs are underway. As soon as the hub is repaired,
we switch you back to normal operation.

Let us show you how Hughes Shared Hub Services can help you advance
the way your business communicates.

Call 301-601-2610.

The heart of HNS' technological leadership is its family of Satellite
earth stations and services.



Consumer Satellite Products



DirecTV Systems

HNS-brand system for direct-to-home reception of satellite-delivered
DIRECTV programming.



DirecPC

HNS' satellite receive system and service that provides up to 400 Kbps
Internet access.



DirecDuo

HNS' hybrid satellite receive system that provides satellite-delivered
TV reception and DirecPC Internet access using the same antenna.



Hughes paper in DCE************

All ques. had four options.

1- What is max. no. of hops in hypercube n/w with n (=2 ^ p) to
go from one node to another ?

a. p

b. log p

c. n ^ 2

2- What is Kerberos ?

ans. Authentication Protocol.

3-In completely connected multiprocessor system with n processors

, links will be of the order of

a. O(n ^ 2)

b. O(2 ^ n)

c. O(n/2)

4-When quick sort gives worst performance ?

ans. When elements are in order.

5- o/p of each sorting step of 8 elements was given and had to
recognise which sorting algo.?

Ans. Bubble sort (Not Sure , Check it out )

6-In worst case ,which sort is best out of following sorts?

a.heap

b.selection

c.quick (ans.)

d. insertion

7-Three very simple gate circuits each having inputs A,B,C,D were

given and had to tell ,which two give same result ? (DeMorgan's Law
was used in solving )

Ans was (a) &(c) (o/p of a & c was coming to be AB +CD)

8-K-map given,had to tell simplified function

Ans was perhaps AB+AD +AC+BCD

K-Map was


CD`

AB 
0 0 
0 0


0 0 
1 0


1 1 
1 1


0 1 
1 1

9-What is Function Point ?

Ans. S/W estimation technique

10-p points to an integer. We don't want p to change value. In C, what
declarations will we use?

A const int *p

b.int *p

c.int const *p

e. int* const p (perhaps ans.)

11-Diff between 2NF &3NF ?

Ans. D (last option)

12.Which does not use client server model ?

a. Email

b. Web access

c. C. Telephone call

d. N/w file system

13-In a pipeline having 3 stages, each having reliability of 0.9

,what is overall reliability of pipeline?

a. 0.9

b. 0.729

c. 0.81

14-2level cacheis there first level cache's access time is 100ns,second

level cache's access time is 33ns & memory access time is 1000
ns

. Wh at is total memory access time ?

ans. 140 ns

15-In public key cryptography,Awillsend message to B

ans. Using B's public key

16-What does projection of a relation give?

Ans.gives vertical partition of relation corresponding to specified
columns.

17-For disk or direct access storage, which is best ?

a. AVL

b. B-tree

c. Red tape ...

18-There is a tree with inorder threading Node B is inserted as

left child of nade A. Node A already has right child . Where will the
null ptr of B point ?

ans. Parent of A (perhaps)

19-There is a diskless workstation. Which will be the first protocol
it will use ?

a FTP

b. ARP

c. HTTP

d. RARP

20-Compiler keeps which of following ?

ans. Symbol table

21- 'ping' command uses which protocol ?

ans. ICMP

22-Merge sort uses which technique?

Ans. Divide and Conquer

23-Program counter is incremented in

a. fetch (ans)

b. decode

c. execute

24-what does the following program do ?

f(int n)

{

int c;

while(n)

{

n&=n-1;

c++;

}

print c;

}

ans. Program prints the no. of set bits in no.

25-What is this called (char *) (*(*(*A[X]) ( ) )) ( )

ans. Array of X pointers to a function returning pointer to functions
that are returning pointer to

char (not sure )

26- For synchronisation in distributed computing, what should not be
there ?

a. all machines are synchronised by a global clock

b. all systems should have their own clock (perhaps ans)

27-Java applet of a moving /waving file is running on one machine then
it means

a.Java's executable code is downloaded and running on the m/c

b.A virtual X server is running on that m/c while the actual program
is running on the web server.

28-What is in RSA algo. ?

a. First the session key is encrypted & then whole message is encrypted
using RSA Algo.

b. Message is encrypted using RsA algo.

c. First Rsa algo is used &then encrypted with the session key.

29-What is dirty read?

a. Transaction reexecutes and gives diff. Results from the original
execution

b. Read is done when the transaction is not yet committed

30-What is coupling ?

a. It tells the strength of interconnection between two program units.

b. It tells the strength of interconnection between twtrength of

interconnection between two program units.

b. It tells the strength of interconnection between twwwtrength

of interconnection between two program units.

b. It tells the strength of interconnection between twwwo program units
and one program unit

31-Any n/w on the computer can have only

a. one domain &one IP

b. more than one domain & more than one Ip

c. one domain and more than one IP

d. more than one domain & one IP

32-Which one does not have file descriptor ?

a. process

b. keyboard

c. pipe

d. socket

33-What does CONNECT BY means

a.connect to a different databaser for retreival

b.arrange in tree ordered structure

34-In two phase commit protocol, why log is used during transmission
&reception ?

a. To retrieve the status in case of crash

35-In which algo. Waiting time is minimun?

Ans, SJF

36-How many address bits are there in Ipv6

ans. 128 bits

37-During run time heap is managed by

a. a user process in kernel mode

b. A system process manages heap for all the processes

c. A system process for each process

d. A user process in user mode

38-In which of following search is efficient?

a. height balanced tree

b. Weight balanced tree

c. Binary tree

39.A ques. on resource relocation, sharing ( I don't remember more

than this regarding this ques.)

40-some ques. options were sth like

a. transparency control

b. Migration control

c. Concurrency control

41-X:In DFD, input is converted into output by passing through various
functional units

Y:DFD cannot be used in object oriented design

a. both X& y are correct

b. both X & Y are incorrect

c. X correct, Y incorrect

d. Xincorrect, Y correct

42-Where regression testing is used ?

a. Dynamic analysers

b. Loaders

43-For Java interfaces , what is true ?

a. Functions declarations are not given'

b. Variables are not declared

c. Instance variables are not used

44-In a linked list, we can delete a node in order of

a. 1

b. n

c. n ^ 2

45-If there are N people and we have to do symmetric & asymmetric

cryptography, how many keys would

be used in these cases respectively?

a. N & N ^ 2 (probably ans)

b. N ^ 2 & N

c. N & N

d. N ^ 2 & N ^2

46-The protected element of a class can't be accessed by

a. member functions of the same class

b. member functions of the derived class

c. member functions of any other class in the same program (Ans.)

47-NFS uses same file structure as unix

48-To solve an expression which of following trees will you use

?

a. postfix

b. infix







Here are some questions of Hughes software system computer part:-



Q. 1 void x(char* a)

{


(a[0])?x(a+1):1;

printf("%c",*(a+0));

return 1;

.........;

}

Input string 'a' is assigned as AaBbCc , what is the output?

Ans.-cCbBaA



Q2 a question on digital gates ANS is OR gate.



Q3 what is the binary representation of 41.6785



Q4 if the precondition for a subroutine does not hold then


1.postcondition does not hold


2.postcondition may or may not hold


3. ?


4. ?

Q5. In java

1. java strings are mutable. And some
other options on java strings





Q6. Void f(char *p)

{

p = (char*)malloc(6);

strcpy(p,"hello");

}

void main( )

{

char *p = "BYE";

f(p);

printf("%s",p);

}

ANS BYE

Q7. A question on write through and write back algo.

Q8. What is concerned with transport layer.

Ans PORT.

Q9. A server can work with ip and ipx protocol.how the server
will

determine to which protocol the incoming packet coresponds .

Q10. For which purpose dhcp is used ANS ip
address

Q11 global vaariable defined as ststic will
serve the purpose of ---

Q12 Question
on NFS ANS It uses the same semantics as unix for

file system

Q13. Program counter is incremented typically in
which uses ANS fetch

Q14 NO of NULL pointers in a tree with n leaf nodes ANS N+1

Q15.thread take less time than process context Why? Ans. Address
space is

same.

Q.16 Which algo is best for sorting 10 elements?

Ans. 1 binary tree 2 selection 3 bubble 4 none

Q.17 a question on ICV(networking)

a) When A sends an ICV and message, B computes ICV , checks It
with given

ICV,and decodes Message

b) Similar other

Q.18 When server A sends a time request to server B, (time

synchronization), and response becomes past, What does
A do?

a) resets its own clock

b) resends time request again



Q.19 in public key encryption what does A do such that It is
not visible

to others?

a) A uses public key part of A

b) A uses private key part of A

c) A uses public key part of B

d) A uses private key part of B

Q.20 function dependency can be described as:

Q.21 q. on findind cyclometric complexity of the given program

1 7 25 3 4 4 0

Q.22 Codd's rule related to database

Q.23 path testing comes under

A) white box

B) black box

Q.24 when an ip address is not in the computer adresss resolution
file

what does It do with that packet

a)Ignores It

c) sends It to default gateway

d) sends It to ethernet server

Q.25 execution divided in different stages then this is called
ANS.

Pipelining

Q.26 in C the macros are

ANS. converted in to inline code during preprocessing

Q.27 X: verification means doing the right things

Y: validation
means doing things right

a) both true

b) both false

c) one true one correct

Q.28 void insert (key, r)

Keytype key, data

{

if (n=max)

ERROR

Else

R[n++].key=k;

Which is best?

1 sequential search

Q.29 which is best for associative list searching?

1) single linked list

2) doubly linked list

3) hash table

Q.30 A question based on SQL ?

Q.31 which is not necessary condition for deadlock?

1 mutual exclusion

2 no preemption

3 is ANS.

4 Circular wait

/=====================================

>From Venky...

/+++++++++++++++++++++++++++++++++++++++++



questions.

== 1. a processor has two level cache.Their access time (level1

and level2) is 100ns and 300ns respect.Memeory access time is 1000ns$

== ans is 140 (b)

== 2.diskless server uses

== a rarp

== b arp

== c ftp

== d.telnet

== ans rarp

== 3.which one of them is not a client server

== e-mail

== telephone

== webserver

== and one more

== ans is e-mail or telephone.

== 4.Which one is used to represent operations

== infix

== postfix

== binarytree

== and one more

== ans binary tree

== 5.one qustion was on private key and public key.The quest. was

if a wants to send a message to b that no one other that b should $

== A private key

== A public key

== B private key

== B public key

== 6.compliers maintain

== ans is symbol table

==

/++++++++++++++++++++

>From Diwakar...

/+++++++++++++++++++++++

1) what a java interface not have ?

ans - instance variables

2) what is done with java code on a web-page

ans - downloaded and executed on ur pc

3) what is the order of deleting a node from a linked list given
a ptr

to it

ans O(n) ( since u have to traverse the list
to reach the prev.

node)

3) what is RSA

4) how can A send a messageto B so that B knows its from A

ans A uses his private key so that B can use A's
public key

5) what is the best sort in worst case

ans heap sort

6) what is the given sorting

ans selection ( check it )

7) what can access protected memebers of a class

ans other classes of that program

8) what protocol is used by a machine to map an ip to hardware
address

ans arp

9) what is the size of ipv6

ans 128 bits

10) what protocol has ping

ans icmp

11) how many keys are needed in symmetric and asymmetric crptography?

ans - i dont know

12) one on a right threaded tree

13) very easy k-map

ans i think its b)

14) very easy ckt

ans choice which has option : a&c are
equivalent

15) what in unix doesnt have a fd

ans process ( this was the first ques
).









Regarding Hughes

paper they conducted two tests. Both were technical(no aptitude test).

First one was compulsory for everybody. In second one could opt for

electronics or computers. In all i suppose there were 50 questions.

I sent a request to my classmates to send me questions whatevery they

could recall. Till now only one person has responded. I am sending
those questions to you.

And just before interview you were supposed to fill up a performa which

they call Behavioural Test. This was to check you interpersonal skills
and socialising capabilities. Questions like - would you like to
be elected leaders of organising committees, do you like peoply express
their agonies to you, do you wish people be close to you type questions
were repeated in one and the other form.

Interview was technical as well as personal. CGPA did count - it seems.

They selected 8 people from here. BTW what's your current CGPA and
what's the strength of your class. Do they come for B.Tech and M.Tech
separatel
as the case here is or it's all at once.

Questions :



1.If a precondition of a sub routine fails then

a. post condition fails as well

b. Post condition may fail

c. post condition is declared but now defined.

2. whatz the o/p of the following program



char * a= "AabbCc";

void x(char *a)

{

a[0] == 0 ? x(a+1):1;

printf("%c",*a);

return 1;

}

x(a);

a. AaBbCc

b. cCbBaA

3. What is DHCP used for?

4. There are 2protocols IP and IPX are running on top of Ethernet. Suppose

a packet addressed to that ethernt card arrives, to which protocol
the

ethernet sends the packet?

1. It checks the payload of the frame and finds out the protocol type
and

despatches it to the right protocol

2. It fins out the protocol type that is mentioned in the ethernet
frame.

3. despatches to both the protocol

5. What is the use of global static variable in C?

6. In which stage of the compilation the Macro in C are converted into

Iline code? (this is not the exact Qn a slight variation of it)

7 In the IP/Ethernet network, a packet with destination address

192.32.65.70 arrives and there is no entry for this address in the
routing

table of the m/c? what does the m/c do about the packe

a. discards the packet.

b. Brodacasts into the ethernet.

c. sends to default router

8. in Public key Encryption , if A wants to send a encrypted msg to
B then

A encrypts the message with

a. A's public key

2. A Pvt key

c. B's public key

d. B's Pvt key

9. consider the SQL statement "Create table New as select * from oldtable"

a. the sql stament is a correct one

b. New is reservd word there is an error

c. you can't select anything while creating a table

10. By Codd's defn for RDBMS whih one is not right?

options , I don't remeber

11. If X and Y are two attriubutes of a relation and 1 and 2 be any
two

tuples in that relation

Y is fuctionally dpndant on X iff (X-Y)

a. if (x1 == x2) then y1==y2

b. if (x1==y1) then x2 == y2

someother combinations

12.The normalization process

1.reduces the data redundancy

2.It reduces the inconsistency that arises due to the data redundancy



13. ((A nand A) nand (B Nand B)) = ?

a. A+B

The question was not exactly in this form. gates represented pictorilly

14. whtz the purpose of flow control?

1. to control errors

. to control congession the receiving end

3. to sequnce the out of sequence packets

15. Whic is false about Java strings

1. The are Null terminated

2. Set of Chars

3. The Condition checking == and = on a sme pair of strings gives

different results.

16. When a java Applet is downloaded what does it do?

Don't remeber the options

it's went something like this:

1. checks the magic nubmer



17. Whatz is the Cyclometic complexity of the following code

don't remember the code exactly

Some more questions...

======================

1:a machine A wants to set it's time same as a a machine B

so it sends a packet to B and b sends reply.but the time on packet
is over by the timete packet

reached A.A has to

a1:set the time on packet

b2:increment its time slowly so as to reduce deifference

c:send packets repeatedly till it gets a packet with time less tan
the current time

d:....



2.which of the following protocols does not find mac address given internet
address

aarp

b.rarp

c....

d...

3.when an java applet get's downloaded what happens

a.the byte verifier checks the magic number

b...

c...

d...

4.when A wants to send a mesg to B using Public key cryptography he
uses

a.A's public key

b.A's private key

c.B's public

d.B's private



5.how does a string in java differ from that of c/c++

a1.java strings are mutable

b.java strings does not have a \0

c.

d.

6.given str="AaBbCc"and a small c program

something like

a:b:( )

the program actually reverses the string recursively







7.some protocol SHDC

8.NFS server is similar to

a.provides similar sevices as unix

b.a file trans fer.....

c.just gets the file for reading..

d.



9.an address 202.15.46.45 is to be located.the machine does not have

info about 202.0.0.0 or 202.15.0.0 0r 202.15.46.0

so the DNS server willl now



a.discard the packet

b.send the mesg to a default server if available

c.send mesg to a DNS server if available

d......

10.verification:"are u building the right product"

validation:"are we building the product right"

a.both are wrong(ans)

b.both are correct

c.first wrong second correct

d.first correct second wrong

11.A:"cohesion is a desirable property"

B:"cohesion means the property that the entire unit is one......"

a.both are correct

b.both are wrong

c.first wrong second correct

d.first correct second wrong



12:definition of functional dependency.

13:which of the following does not use extra memory

a.....

b.insertion sort

c.shell sort

d.both b and c.

14:which of the following is better for ten elements

a.bubble sort

b.selection sort

c.quick sort

d......



15.the memory reference time for cache is 100 ms and for memory is 1000ms

.the probalility of a hot is .9.the average memory access time is

a:100

b:200(ans)

c:500

d:1000



16.a question on socket numbers

17there is an ordered binary tree and an index structure

a.we can use ordbintree without ordering

b.orb are used with ordering where as indexing canbe done without ordering

c.indexing uses extra memory

d......

18.there is ethernet protocol and ethernetIPstack in MAC sublayer

when an address has to be found which is used





Some more questions:

====================





A question on multi threading!

It has got a PC, register space kind of options.

A question on NFS.

a. doesn't allow read.

b. it is just like Unix file system.

c. After the file is opened, the whole file os transferred to the client

d. there is no state information maintained.

What takes maximum time in a context switch.

a. saving registers.

b. address space switching.

c. flushing the TLB

d. getting the new process inside the memory.

1.If a precondition of a sub routine fails then

a. post condition fails as well

b. Post condition may fail

c. post condition is declared but now defined.

2. whatz the o/p of the following program



char * a= "AabBCc";

void x(char *a)

{

a[0] == 0 ? x(a+1):1;

printf("%c",*(a+0));

return 1;

}

x(a);

a. AaBbCc

b. cCbBaA

3. What is DHCP used for?

Assignment of IP addresses.

4. There are 2protocols IP and IPX are running on top of Ethernet. Suppose
a packet addressed to that ethernt card arrives, to which protocol the

ethernet sends the packet?

1. It checks the payload of the frame and finds out the protocol type
and despatches it to the right protocol

2. It fins out the protocol type that is mentioned in the ethernet
frame.

3. despatches to both the protocol

5. What is the use of global static variable in C?

6. In which stage of the compilation the Macro in C are converted into

Iline code? (this is not the exact Qn a slight variation of it)

pre-processing stage.

7 In the IP/Ethernet network, a packet with destination address

192.32.65.70 arrives and there is no entry for this address in the
routing table of the m/c? what does the m/c do about the packe

a. discards the packet.

b. Brodacasts into the ethernet.

c. sends to default gateway

d. sends to the server

8. in Public key Encryption , if A wants to send a encrypted msg to
B then

A encrypts the message with

a. A's public key

2. A Pvt key

c. B's public key(Answer)

d. B's Pvt key

9. consider the SQL statement "Create table New as select * from oldtable"

a. the sql stament is a correct one

b. New is reservd word there is an error

c. none

d. new should come within quotes.

10. By Codd's 14 rules for RDBMS whih one of following is not right?

a. null values r not defined.

11. If X and Y are two attriubutes of a relation and 1 and 2 be any
two

tuples in that relation Y is fuctionally dependant on X iff (X-Y)

a. if (x1 == x2) then y1==y2

b. if (x1==y1) then x2 == y2

someother combinations

12.The normalization process

1.reduces the data redundancy

2.It reduces the inconsistency that arises due to the data redundancy



13. ((A nand A) nand (B Nand B)) = ?

a. A+B

The question was not exactly in this form. gates represented pictorilly

14. whtz the purpose of flow control?

1. to control errors

. to control congession the receiving end

3. to sequnce the out of sequence packets

15. Whic is false about Java strings

1. The are Null terminated

2. Set of Chars

3. The Condition checking == and = on a sme pair of strings gives

different results.

16. When a java Applet is downloaded what does it do?

Don't remeber the options

it's went something like this:

1. checks the magic nubmer

17. Whatz is the Cyclometic complexity of the following code

don't remember the code exactly

Thaz all I rember.







1-N keys to be sorted using n space,which algo?

a. insertion

b. shell

c. both insertion and shell (ans)

d. quick

2-Heap doesn't have following property ?

a. smallest element is at leaf

b. two elements cannot be the same. (ans)

c. height of heap is logn

d.

3-searching time is min. in

a. Hash

4-To sort 10 values, which sort will you use ?

a. bubble (ans)

b. quick

c. binary tree

d. All the above

5-A has to send message toB

ans. A will use B's public key

6-a ques on NAND gates (perhaps same as that in DCE)

a figure was given like

(A nand A ) nand (B nand B)

ans- A or B



7- F(char *p)

{

p=(char*)malloc(6);

strcpy(p,"hello");

}

main()

{

char*p;

p="bye";

f(p)

printf("%s", p);

}

ans- bye

8-In Asynchronous transmission

a) client sends a request and then waits for response....

b. client send a request and then continues with work without expecting
a response

c. client sends a request and the continue with work and reacts

for the response when it comes (ans)

d.

9-DHCP is

a. assigning IP addresses

10-Ethernet LAN has IP &IPX protocol at the network layer, a packet
comes from some other host.
a. it will not give packet to any layer

b. it will check the data field in the frame for the protocol type
and send it accordingly

c. it will check the protocol field for the protocol type and send
the frame accordingly (ans)

11-verification:Are we building the right product?

Validation:are we building the product right?

Ans. Both are wrong.



12- Normalisation



13-

char *p="AaBbCc"

int x(char*p)

{

p[0] ? x(a+1):1;

printf("%c",*a);

return 1;

}

ans cCbBaA

14-in line expansion of macros happens in preprocessing stage of compiler

15-when is Write through is better from write back in terms of cache.

a. single cache less instructions (ans)

16. if the compiler gives static allocation for a program then which
is not possible

a. Dynamic binding

b. Recursion (ans)

c. Indirect address loaction

d. Direct address location



17-which of the following will have minimum thread switching overhead;

a. INET domain sockets

b. UNIX domain sockets

c. shared memory variables (ans)

d.

18-what is the cyclometric complexity of the following code

if(x==0 or y==o)

{

...

}

else

{

....

while(...)

{

..

..

}

}

a. 3

b. 4

c. 7d Noneof these

19-41.6375-convert into binary

20-binary tree has how many null pointers ptrs

a. n

b. n+1 (ans)

c. 2n



21- No of comparisons in the worst case in Merge sort

a. 2n

b. 2n-1 (ans)

c. 2n-2

d. 2n+1

22-path testing

a. black box

b. white box(ans)

23. Which of the following is true for NFS.

a. It is stateless. (ans)

24-ICV ques

25- A client wants to synchronise it clock with the server over

TCP but the reply packet send time that is already past then what will
it do

a. Client will immediately set its clock to the recieved time

b. Client will ignore the reply.

c. Client will repeatedly send the time requests till the time received
is longer than its clock.

26-How control in tCP is when

ans congestion .....

27- In order to have a assembly language procedure reentrant what will
be done.

28-program counter incremented in which stage.

a.Fetch

29-ordered binary tree & hash -which is better

30-time server

31-why does dram need refreshing periodically.

a. it contains flip flops

b. its charge gets depleted due to memory read

c. its charge gets leaked (ans)

32- some insert algoritms given like

insert(...)

{


..

}

where is it used.

a. binary search

b. interpolating search

c. sequential search

33- In context switching which of the phases takes longer time

a. flushing the translation lookaside buffer

b. swapping out the process to the disk

c. saving the registers

d. loading the new process from the disk (ans)

34- the use of static declaration for external variables

a. localising scope (ans)

b.

35- .If a precondition of a sub routine fails then

a. post condition fails as well

b. Post condition may fail

c. post condition is declared but now defined.

d. post condtion never fails (ans)

36 9. consider the SQL statement "CREATE TABLE NEW AS SELECT * FROM
EMP"

a. the sql stament is a correct one (ans)

b. New is reservd word there is an error

c. you can't select anything while creating a table

d. NEW should have been in quotes



37- If X and Y are two attriubutes of a relation and 1 and 2 be
any two

tuples in that relation

Y is fuctionally dpndant on X iff (X-Y)

a. if (x1 == x2) then y1==y2 (ans)

b. if (x1==y1) then x2 == y2

someother combinations

38- Whic is false about Java strings

1. The are Null terminated (ans)

2. Set of Chars

3. The Condition checking == and = on a sme pair of strings gives

different results.

39- When a java Applet is downloaded what does bytecode verifier do

a. checks the magic nubmer (ans)

b. checks the bytecode whether it has been written properly

c.

40- given a domain name which of the following does not find the IP
address

a. /etc/hosts

b. ARP (ans)

b. RARP

c. DHCP

41- an packet for address 202.15.46.45 is to be sent.the machine does
not have

info about 202.0.0.0 or 202.15.0.0 0r 202.15.46.0. so what will be
done

a.discard the packet

b.send the mesg to a default gateway if available (ans)

c.send mesg to a DNS server if available

d......

42- A:"cohesion is a desirable property"

B:"cohesion means the property that the entire unit is one......"

a.both are correct (ans)

b.both are wrong

c.first wrong second correct

d.first correct second wrong

43- the memory reference time for cache is 100 ms and for memory is
1000ms

.the probalility of a hot is .9.the average memory access time is

a:100

b:200(ans)

c:500

d:1000

44- what do you use when you want to have differnt phases of instruction

to get exedcuted in different units

a. pipeline (ans)

45- By Codd's rules for RDBMS whih one of following is not right?

a. null values r not defined

b. Integrity constraints are placed in separate files (ans)











Top 10 Interview Tips OF Hughes:

================================

Here are the 10 most commonly asked questions in the job interview,
which will help you prepare yourself better for the forthcoming campus
placement and also give you a competitive edge over others.

A well thought out answer to these questions, prepared and rehearsed
in

advance with the logical sequencing of the events will help you sail
through.


1. Tell us about yourself

This is an open canvas for you giving you an opportunity to direct and
lead your interview in the direction you want. Good idea will be to
structure
your answer in the following three broad heads:

Family Background Educational Background (starting from schooling to

professional qualifications) Achievements In all the above subheads
speak only that information which will give strength to your candidature.
Avoid verbose description of yourself.


2. Why do you want to join us?

To answer this question, you must have researched the company well.
Here you can quote some of your personal beliefs, which are in conjunction
with the values of the company or talk about specific products and services
which could be your professional interest too.

In the event where your skill set is mapping with the requirement of
the company, do not miss the chance to highlight the same. Specify the
initiatives taken or work done to attain that skill set.

3. What would you like to be doing five years from now?

This question is asked to assess candidates career plan and ambition
for growth and to see if the company will be able to provide that
opportunity
over period of time. Also to assess if your personal goals are not totally
off tangent with what companys objectives are. It is also to check your
stability with the organization. It is good idea to be
very realistic in
your answer. If need be take guidance from your seniors who are already
in the corporate environment.


4. Do you prefer working with others or alone?

This question is usually asked to determine whether you are a team player.
Before answering, however, be sure you know whether the job requires you
to work alone. Then answer appropriately.

5. What are your biggest accomplishments

You may like to begin your reply with: "Although I feel my biggest

achievements are still ahead of me, I am proud of my involvement withI
made my contribution as part of that team and learnt a lot in the process". 
It will be a good idea to close your answer with also specifying what
attributes
and circumstances made you succeed.


6. What are your favorite subjects

It is a leading question giving direction to the panel members
for possible areas where they can probe in further for your knowledge base
and in depth understanding. It is advisable to select the topics that you
are competent in.


7. Why should we hire you?

Keep your answer short and to the point. You should highlight areas
from your background that relates to the need of the organization. Recap
the organizations description of the job, meeting it point by point with
your skills.


8. What are your hobbies?

This question is generally asked to assess whether you are "desktop"
kind of a person or an "interaction orientated person". It also indicates
your preference for team - oriented activities or projects with solo
contributions. 
It enables the organization to place you accordingly after selection. Be
candid with your answer.


9. What is the worst feedback you have ever got?

To answer this question you must admit and share your areas of improvement.
Also sharing an action plan for improving oneself will indicate your ability
to take criticism well. Your answer should be reflection of your
open-mindedness.


10. What is the most difficult situation you have faced?

Here you should be ready with the real life story. The question looks
for information on two fronts: How do you define difficult? and, what was
your handling of the situation? You should be able to clearly lay down
the road map for solving the problem, your ability to do task management
and maintain good interaction with your team members and other peers. It
is advisable to close with highlighting the learning out of the incident.

Interview tips-

== 1.Family background.

== 2.Ur interest.Say only the things u know.Sometimes they can

ask wayward questions regarding ur project so be prepared for that.

== 3.U should have fair idea abut the sub. mentioned in ur resume.

== 4.If u don't know anything say NO.

== 5.Try to get stuck in the topic which u know thoroughly.Like

one of my friends got stuck in tcp/ip networking and he got thru.

== 6.In our college four groups were taking interview so some of

us were unlucky as the judgement varies.

== 7.Why do u want to join hughes.For this get the answer from their
ppt.

== 8.If ur given a project in some other field would u work.Say

yes i would try to succeed in every task assigned to me.

== 9.They can ask u to write some algo in datastructure like bubble
sort ,quick sort etc.

==

== Mostly the technical questions varied from person to person

but generally was concerning their project.Unfortunately they asked
m$

==





About HSS - for us

the interview was basically on summer project , networking -
routers /

congestion control in tcp etc, some os fundas .HR part was a
modified

version of the stuff on the web site - strength/weakness,can
u work in

a gp, do u have problems asking ques to ppl, ur future plans , gre
.

i think i didnt get it bec. i told them that i plan to do an
ms.

books

1. Quantitative apt from RS agarwal

2. Verbal and non verbal reasoning by RS AGARWAL

Only aptitude test is there.

paper contain



3-part

1.quantitative

2.reasoning

3.again quantitative type

total 20+13+12 question = 45 Q's

-----------------------------------

no negative marking and time 45 minute

======================================



pattern of questions

====================

1.first qestion on figure which is easy only one question in paper.(c)

2.1 1 2 3 5 ......

ans:8

3.odd man out - 10 ques from(1)

4. Code for ABCDE is KLMN then code for BEC is ?

5. Array has N elements . To reverse it the subscript should be ?

hint A(N-I) , I=0,1,....

6. There r 800 coins and 1 is of lesser weight . Identify it ?

hint : divide by 2. anad compare .. binary
tree

7. Question on permutation and combination like- five alphbets r there 
one is repeating 2 times. its probability?

8. Questions like . AB, BC.... find relation b/n others

9.A programme has a complexity of n at the first stage and n^2 in the

second stage and n^3 in the third stage.find overall complexity ?

Ans: n^3(highest)

10. 5 questions on veinn diagram from book (2)

11. 2 questions on relations.

12. Code for MEN is 13-5-14 and TEN . Code for QUIZ is ...

hint : ( code for letter is its order ie for
E-5.



13:reasoing:in question 5 dish and 3 drink is given and
some codition

is give like

1.you will not take coffee and tea both

2.doctor advise you not to take some two dish given.

and like two more condition is given

a:which drink alwayes taken by person

ans:orange juish.

this is easy question.

14:second reasoinig question is like jone in rank above david and like

3 to 4 statment is give.

and question is like.

1.who is at higest rank.

2.if merry is at rank 3 than the rank of david.

this type question you can find in many book.

Some more q's ( from Delhi )

==============



hi friends

there are three section . there are 44 question in all three
section .the time is 45 mainutes.it$



section I -20 question.

section II-11 question . it is GRE resoning .you can easyly
do these section.

section III-13 question

there is no time limitatioin in individual section .so do not
bothere for that.



1. there is question on figure .it is easy.

ans d) correct 2. there are 1800 coins .one
soin is defective in that .in how many minimum times you can find that
the coin is defective.

a)11

b)9

c)7

d)2



3. there are two kind of professonal in a company software & personal.if
the personal are 15% of the total .a party is going .in a party if 50%
of the total professonal left and all are s/w then what is the ratio of
the s/w professonal left to total software professonal.

ans b) 10/17 4. what is the probebility of the talking
out two card one king and one quene of black in a card packet.

ans d) 1/663 (ckeck)



5.1 1 2 3 5 ... 13

ans 8

6.there are two more question of series .they are easy.

7.there are two question of coding and decoding.they are also easy.

8.how many word are be formed by by a 5 alphbet ward in which one word
is twice.(I don't rembere the exact word)

ans 60 (correct0

9.there is one question on price rise and fall .

ans 1% decrese in price.



10. 1,7,17,31,--,71

ans 49

section II

in this there are easy question on reasoning like
GRE .







hi friends

there are three section . there are 44 question in all three
section

.the time is 45 mainutes.it is suffucent.

section I -20 question.

section II-11 question . it is GRE resoning .you can easyly
do these section.

section III-13 question

there is no time limitatioin in individual section .so do not
bothere for that.



1. there is question on figure .it is easy.

ans d) correct

2. there are 1800 coins .one soin is defective in that .in 
how

many minimum times you can find that the coin is defective.

a)11

b)9

c)7

d)2



3. there are two kind of professonal in a company software & personal.
if the personal are 15% of the total .a party is going .in a party 
if 50% of the total professonal left and all are s/w then what is
the ratio of the s/w professonal left to total software professonal.



ans b) 10/17

4. what is the probebility of the talking out two card 
one king

and one quene of black in a card packet.

ans d) 1/663 (ckeck)

5.1 1 2 3 5 ... 13

ans 8

6.there are two more question of series .they are easy.

7.there are two question of coding and decoding.they are also easy.

8.how many word are be formed by by a 5 alphbet ward in which
one

word is twice.(I don't rembere the exact word)

ans 60 (correct0

9.there is one question on price rise and fall .

ans 1% decrese in price.

10. 1,7,17,31,--,71

ans 49

section II

in this there are easy question on reasoning like
GRE .

I don't remember the passage and question.there are 11 question

in this There were two papers one was aptitude ( 36 questions) and
other was technical(20 questions)

1: given an expression tree and asked us to write the in fix of that
expression

four choices



2:

global variables in different files are

a:at compiletime

b) loading time

c) linking time

d)execution time

3)size of(int)

a) always 2 bytes

b) depends on compiler that is being used

c) always 32 bits

d) can't tell

4)which one will over flow given two programs

2

prog 1: 
prog2:

main() 
main()

{ 
{

int fact; 
int fact=0

long int x; 
for(i=1;i<=n;i++)

fact=factoral(x); 
fact=fact*i;

} 
}



int factorial(long int x)

{

if(x1) return(x*factorial(x-1);

}

a) program 1;

b) program 2;

c) both 1 &2

d) none

}

5) variables of fuction call are allocated in

a) registers and stack

b) registers and heap

c) stack and heap

d)

6)

avg and worst case time of sorted binary tree



7) data structure used for proority queue

a) linked list b) double linkedd list c)array d) tree

8)

main(){

char str[5]="hello";

if(str==NULL) printf("string null");

else printf("string not null");

}

what is out put of the program?

a) string is null b) string is not null c) error in program d) it executes
but print nothing





9)there are 0ne 5 pipe line and another 12 pipe line sates are there
and flushed time taken to execute five instructions

a) 10,17

b) 9,16

c)25,144

d)



10)

for hashing which is best on terms of buckets

a)100 b)50 c)21 d)32 ans 32

11)



void f(int value){

for (i=0;i<16;i++){

if(value &0x80001) printf("1")

else printf("0");

}

}

what is printed?

a) bineray value of argument b)bcd value c) hex value d) octal value

12)



void f(int *p){

static val=100;

val=&p;

}

main(){

int a=10;

printf("%d ",a);

f(&a);

printf("%d ",a);

}

what will be out put?

a)10,10

13)

struck a{

int x;

float y;

char c[10];

}

union b{

int x;

float y;

char c[10];

}

which is true?

a) size of(a)!=sizeof(b);

b)

c)

d)

14)



# define f(a,b) a+b

#defiune g(c,d) c*d

find valueof f(4,g(5,6))

a)26 b)51 c) d)

15)

find avg access time of cache

a)tc*h+(1-h)*tm b)tcH+tmH

c) d) tc is time to access cache tm is
time to access when miss occure

16)

main()

{

char a[10]="hello";

strcpy(a,'\0');

printf("%s",a);

}

out put of the program?

a) string is null b) string is not null c) program error d)

17)

simplyfy k map

1 x x 0

1 x 0 1

18)

int f(int a)

{

a=+b;

file://some stuff



}

main()

{

x=fn(a);

y=&fn;

what are x & y types

a) x is int y is pointer to afunction which takes integer value





19) char a[5][15];

int b[5][15];

address of a 0x1000 and b is 0x2000 find address of a[3][4] and b[3][4]

assume char is 8 bits and int is 32 bits

a) b) c) d)

there are 20 questions all in techinical paper and 36 questions in
appititude
test in appititude thay have given all diagrams and asked to find what
comes next thay are quite easy and i hope if u practice r.s aggraval u
can do it easily for tecnical thay have given 1 hr for 20 questions and
for not technical thay have given only 40 min and 36 questions

this is the paper i have right now

1. main()

{

fork();

fork();

fork();

printf("\n hello");

}

How many times print command is executed?

2.main()

{

int i,*j;

i=5;

j=&i;

printf("\ni= %d",i);

f(j);

printf("\n i= %d",i);

}

void f(int*j)

{

int k=10;

j= &k;

}

output is

a 5 10

b 10 5

c 5 5

d none

3.

some question on pipeline like you have to findout the total
time

by which execution is completed for a pipeline of 5 stages.

4.

main()

{

int *s = "\0";

if(strcmp(s,NULL)== 0)

printf("\n s is null")p

else

printf("\n s is not null");

}

5.

some syntax which returns a pointer to function

6. size of integer is

a. 2 bytes

b 4 bytes

c. machine dependant

d compiler dependent.

7.max and avg. height of sorted binary tree

a. logn n

b n logn

8. some question. like the number was shifted everytime by one
and bitwise and with 10000000. one was supposed to find what the code was
doing. I feel the answer was most probably finding decimal value.

9. int a[5][4]

int is 2 bytes base address for array is 4000(Hexa)

what will be addr for a[3][4]?

int is 4 bytes same question.

10. implementation of priority queue

a. tree

b linked list

c doubly linked list.

